Boden (il



Boden 1§

AN

PANY PROFILE

FE - HIEEERGBERARDLETFAI LSEZRMN “RE - BHRESTWE" , B EESHHROMBER
EBRHLIHA— /N ZEFE, A7 S HERS0E, £ X10000EHK, ARMAEHREHNRETHESELT
EHEAR AR BFEFNEN—HZBFEFENRT, FHiBTISO/TS16949:2009REFEERIAIE, £E
EEE TR AFIEIER, Nig&ERAZSFRUEN. £8zxiEREEMN, H LR ACATE B ikl
REHTRN, AFFLMZTHELFIESHEREERR. NEELR. EAERERE. TRIE. B
ERFEERI M, EN, REAFPHMEATR, RESHEHRAEH 6, AERINKE. TENH.
AL T, B SV, AEAE. RIS TLERERS.

LA BR: BEAEBSENTRMERENRS, BLARERTERAFHEETHERESL,
AL E R AAFERBPERIGEES

China Boden Hydraulics Co., Ltd is located in China Qidong Binhai Industrial Zone, which is Called ‘the
North of Shanghai’. The company is only within one hour driving to the down-town city of Shanghai or to Shanghai
“Pudong”(PVG) International Airport. At the moment, Boden covers the land space of 33,500 square meters and
has the production area of more than 10,000 square meters. The company, with *ISO/TS16949:2009° certified Quality
System, is the professional manufacturer for hydraulic gear pumps(including European standard group “00”, group
<0, group “1”, group “2” group “3”gear pumps), bi-direction gear pumps, multi-function gear pumps, multi-stage
gear pumps, gear motors, etc. Boden has a number of engineering people who have the rich experience in designing
& manufacturing processing for all our products and also have quite many technicians who are skilled in machining,
assembly and testing the said products. With the help of many modern machining equipments(Flexible machining
centers, CNC machines, 3-coordinate measuring machine, full automatic gear checking machines and CAT full
computer controlled testing machines, etc). Boden is capable to provide varies hydraulic products for the customers
in automobile production, construction and agricultural equipments, transportation equipments, metallurgy & petroleum

industries and material handling vehicles both at home and abroad.

The target of the company is providing customers the best hydraulic products with excellent services and let
Boden become one of the first grade hydraulic gear pump manufacturers in the world.

Welcome customers & friends from home and abroad to visit and communicate with us at Boden hydraulics and
we are looking forward to see you soon.



5

-
X

¥

=
2

Quality Control I E




|||\\\\‘

F;%. jﬁii_K' .L_.El

@

REvAK

1. 48

2. ihE
3.5i%

4 EH
5. B4R
6. AMEEH
1.4%

8. DUHE
9. fezhiktt
10. M3hik%
11, AT
12. bk
13. 5%
14, Big

! @i.@\

PUMP'S PARTS

o =~ oo oW P

. STOP RING

. SHAFT SEAL

. FRONT COVER

. HOUSING SEAL

. ANTI-EXTRUSION SEAL
. COMPENSATION SEAL
. BUSHING

. DUBEARING

9.

DRIVE GEAR

10. DRIVEN GEAR

11, CENTRING PIN

12. BODY

13. END COVER

14. FASTENING SCREWS

BodenidiiiiE

HIGH PRESSURE GEAR PUMP



FmBAR

Bodeni#iniZE

HIGH PRESSURE GEAR PUMP

CONTENTS

FREE 1 Productrange
HAZE 2 Technical information
RERE 2 Installation notes

%ER 2 Hydrauli fluids

#@OFES 2 Inletpression
iR 3 Filter recommendation
EAEX 3  Pressure definition
HHEMYME 3 Inletand delivery lines
lE#%H® 4 Rotation direction
RinaititE 4 Design calculations for pump

BKPO5 5  BKP0.S

BKP1 13  BKP1

BAP1 23  BAP1
BAP15 30 BAP15

BAP2BHP2] 34  BAP2[BHPY]
BAP25[BHP25] 51  BAP2.5[BHP25)

BHP26 57 BHP2S6
BOP25 66 BDP25

BHP3 71 BHP3
BAP35 81 BAP35

SE® 88  Multiple pumps



Bodeni#@iifii&E

HIGH PRESSURE GEAR PUMP

FasekE PRODUCT RANGE

HE model
BAP3.5 BAP3.5(250~200bar)
BHP3 BHP3{250~ 180bar]
BDP25 BDP2.5(220~200bar)
BHP2.6 BHP2.6{250~170bar)
BHP2.5 BHP2.5(250~190bar)
BAP25 BAP2.5(220~160bar)
BHP2 BHP2(270~160bar)
BAP2 BAP2{250~ 140bar}
BAP1.5 BAP1.5(210~180bar)
BAP BAP1{250~150bar]
BKP1 BKP1{230~160bar
BKPO.5 BKP0.5(200~160ar)
0 049 08 14 2 3 6 8 10 121382023 30 40 44 45 b4l 100 ;
HiE (om Trev)
displacement

& BROFFENEEEEIALS, FRAVSBHRTHE, FEMRAES, 14  Remark: Show these pressures as maximum continuous pressure
EHSEREE. EEHESEAS, in the graph, product series "BH" denote front and end
cover material cast iron, etcaeteras series denote front
and end cover material aluminum.



BRAREH

AT{EBodenRRGREMNMENERNER SR, FTEEHE
BARHMERIERLNR.

R

ERERHBTEETHZE, RNBURRMTHLHTBERE:

- RERMEARASAHMNRE—, N7ERIERE,
RERNERSRPNNEHREN T, MRDEERTERANERRE,
- RETHSHIHAREEE, Ml OEEE= 00N, 2B
SRMERTS AL SR RBERIERME.
HRREONDHOERERUTHEANT, #EREZHRETH,
REMERTLHE, RFRDR,

- SRR, BARGEEO, RERDOZSHL,
CATRERMERF®, NERIRBTRATR TR,

RERARBUTRIFHEAEMEER:
REL. RS (REESHER ) | WER, REMUREER
ik, MAEEMEZEMEDIN 515255VDMA2431 745, BiE
AFZGHY 15,

HFRER, BRRENZE-10CE80CE, HiEsE
BENT:

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

TECHNICAL INFORMATION

Please strictly follow assembly and use indications given in this
catalogue for top performance and longer life of Boden pump.

INSTALLATION NOTES

Before starting the system on a continuous basis, we suggest
to adopt as follows simple precautions.

» Check for the direction of rotation of the pump to be consistent
with the drive shaft one, be sure no reversion revolved.

* Check for the proper aligment of pump shaft and motor shaft,
it is necessary that the connection does not induce axial or
radial loads.

* Check if contact area between seal ring and shaft is clean,
remove all dirt, chips and all foreign bodies form flanges
connecting inlet and delivery ports, dust could provoke quicker
wear and leakage.

* Ensure that intake and return pipes ends are always below
fluid level and as far from each other as possible.

* Fill the pump with fluid, and turn it by hand.

» Disconnect pump drain during startup to bleed air off the circuit.

* Always avoid or limit load starting for pump longer life.

HYDRAULIC FLUIDS

Use specific mineral oil based hydraulic fluids having good
antioxidant, anti-foaming(rapid de-aeration), anti-wear, anti-
-corrosion and lubricating properties, Fluids should also
complywith DIN 51525 and VOMA 24317 standards and get
through11th stage of FZG test.

For the standard models, the temperature of the fluid should
range between -10C and +80°C.

Fluid kinematic viscosity ranges are the following:

allowed range 6...500 ¢St
recommended range 10...100 ¢St
value allowed at startup ...2000 ¢St
iy 8] INLET PRESSURE

ERETIAT, MEERNENETASE, TridOENNE
0.7Z3.0barZ i8] ( $E&FES )

Under standard working conditions, intake pipe pressure is
lower than atmospheric pressure. The operating inlet pressure
should range between 0.7 and 3 bars (absolute).



RN

RERLIRM, SUERRNLRARHRE BT HENTREN,

BT RNMREREFAOEE T AR TRAMSRAER, FRNZNN
TR, MERERPOSRTORTRKERES A FNREE
TRAGRZ-ERESRESHFERT TR

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP

FILTER RECOMMENDATION

It is widely known that most pumps early failures are due to
contaminated fluids. As a warranty cannot be issued for dirt-
related wear, we recommend a filter to be used, which can reduce
the degree of contamination to a permissible dimension in terms
of the size and concentration of dirt particles.

The filtering system shall always ensure contamination levels
not exceeding the values indicated below:

Pressure <140 bar 140...210 bar >210 bar
NAS 1638 Class 10 9 8
ISO 4406 Class 19/16 18/15 1714
Ratio Px=75 25-40 mu 12-15 mu 6-12 mu
EAEX PRESSURE DEFINITION
- REREEH P3= peak max pressure
Ploar) & = SEARES P2= intermitient max,pressure
Pi= BEEERES P1= continuous max.pressure
I R
P2 e fr— e
T . e e L e
Max.20sec Max.2sec
EA20H mA2H
R LR E INLET AND DELIVERY LINES

RERGHERTURALR, SEREARATL, ERFEAKY
FHIh, ERFELNARBHRT, MEEREFZETREE,
BIUARZ B M SR = R N ERNEAE,

Hydraulic system pipes should show no sudden changes of direction,
sharp bends and sudden differences in cross-section.

They should not be too long or out of proportion.

Pipe cross-section should be sized so that fluid velocity does not
exceed recommended values.

It is advisable to carefully consider the possible diameter reduction

RESEENTE of the inlet or outlet pipes fitted on flange fittings.
Reference values are the following:
Intake line 05..1.6m/s
Delivery line 2.6mfs
Return line 16..3m/s




BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

%R ROTATION DIRECTION

EEAREL: BERNAE, LtHAERES, RRMHEER, hak, Definition of rotation direction: when standing before the pump
with driving shaft up with its projecting end towards the

R'D'%R, Rz, MRERTERR, ALk, B'SER. observer, the pump is rotating clockwise in case of right-hand
rotation "D" .The contrary will happen with left-hand pumps "S",
keeping the same point of view.

R
——
(0,——— O
O
@) O
o0
S= Rt D= I $t R=TER%
anti-clock rotation clockwise rotation reversible rotation
REGHHE DESIGN CALCULATIONS FOR PUMP
Flow Q Limin
Torque M Nm
Power P kW
Speed n r/min
Pressure AP bar
Displacement Vv cmlrev
Volumetric efficiency Nv= N vV, APn) ~0.93
Mechanical efficiency N hm= T hm(V, AP,n) ~0.85
Total efficiency Nt= Nve Nhm ~0.80
Q=Vene+ Nye10° [Umin ]

M=( AP+ V)/(6283 * Mm) [ Nm ]
P=(AP-Q)612 + M)  [kwW]




Bodeni#iiixE

HIGH PRESSURE GEAR PUMP
BKP0.5
I{TiTH/ HOW TO ORDER
BK i P o o5 Ji W& HEm mE || ®W || 0 || HOGE || #wH# || "TEH
) Front cover Rotation Size Shaft Ports Ports position Seals Options
[ [ T T T I
75 P- 8% &8 X iliaEe 0.19
Series Pump Group Clockwise 026
M MRS 038
Counter 050
m” clockwise 0.65 AT/ Options
Revarshle e V-7 V-Directional valves
B 1.00
125 ##h&/ Drain
i
2 Q0-Afe el e
z'no Q1-4hiBHkih | extemal drain #5
: Q2-4hiBHE / extemal drain G1/8
HWOGE Ports position
RN Omit-Side inlet and side outlet
A-BTHERTH A-Front inlet and front outlet
B-RiftAit B-Back inlet and front outlet
C-Riftfit C-Back inlet and side outlet
D-#RIH D-Side inlet and front outlet
R-EitEH R-Back inlet and back outlet
3] Seals

ER-BETEE-10T-+80 T NS HENE H H30ar,
V-ERTRENR, RELEEE-10C+120T,
H-ERFEENR, BEEEE-40T-+80T,
T-ER T il ¥ 05 A4 E h3~6bar,

N-1% B F it OO K 474 13~ 10bar,

36/ Examples:

Omit-Range between -10°C and +80 T,inlet pressure up to max. 3 bar absolute.
V-Version suitable for fluid at hi-temperatures, range between -10C and +120°C.
H-Version suitable for fluid at low-temperatures, range between -40°C and +80°C.
T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.

N-Version suitable for inlet pressure up to max. 3 and 10 bar absolufe.

BKP0.5-B0-D-0.19-G0-L0-B=  JRtéHE, #E 0.19colrev, BORIE, GOREHM, L0 RSO, FlaH, Hin

clockwise rotation, 0.19 cc/rev, BO front cover, GO tang shaft, setting ports L0 type, back inlet and front outlet (B), standard seals
BKPO.S-B1-D-0.19-G0-L2=  JRISHE, #E 0.19cofev, BI BIE, GO REHM, L2 REMO, ks

clockwise rotation, 0.19 cc/rev, B1 front cover, GO tang shaft, sefting ports L2 type, standard seals
BKP0.5-AD-D-0.19-C0-L2-N=  JGiRY§H¢, & 0.19 cohev, AOBTE, COEEEMM, L2 REMN, BEHHN)

clockwise rotation, 0.19 cc/rev, AD front cover, CO parallel shaft, setting ports L2 type, high pressure seals(N)



BKP0.5B0

fi%: G4 B4R 12.

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

End cover: G1/4 thread depth 12.

p REFH, n.2 M5 BTHERTH To mount the pump, n.2 M5 screws,
. v 54+0.5Nm. with a torque wrench setting fixed
o ‘ﬁ‘ at5.4+0.5Nm.
ot
‘Q ¢
\
#0 o
INLET OUTLET
95 M 2
N n255 16
4
|
kA 2 | Lt |
| $ a / ‘\6}\
Iy
- 58| o N NN
& |
= - S ] = i . i
v T =] LA & ) ( | @
JS&@} 5.5 \@ﬁ w| =
75 50
AA
s
il HE BXEH ERRE BiEkE R+t
Type Displacement Max pressure Max. speed Min. speed Dimensions
BKP0.580-D-0.19 200 7000 1000 & 51
BKP0.5B0-D-0.26 200 230 250 7000 1000 60.5 515
BKP0.5B0-0-0.38 200 230 250 7000 1000 61.5 52.5
BKP0.5B0-D-0.50 200 230 250 7000 1000 62.5 53.5
BKP0.5B0-D-0.65 200 230 250 7000 1000 63.5 545
BKP0.5B0-D-0.75 0.75 200 230 250 7000 1000 64.5 55.5
BKP0.5B0-D-0.88 0.88 200 230 250 7000 1000 65.5 56.5
BKP0.580-D-1.00 1.00 200 230 250 6000 850 66.5 51.5
BKP0.5B0-D-1.26 125 200 230 250 5000 700 68.5 50.5
BKP0.5B0-D-1.50 1.50 200 230 250 4000 600 705 615
BKP0.580-D-1.75 175 180 210 230 4000 600 725 635
BKP0.580-D-2.00 200 160 190 210 3000 500 745 655




Bodeni#iiixE

HIGH PRESSURE GEAR PUMP
BKP0.5B1
G1/4 B4R 9. G1/4 thread depth 9.
RERM, n2 M5 RTHREETA To mount the pump, n.2 M5 screws,
54+0.5Nm. with a torque wrench setting fixed
at5.4+0.5 Nm.
im0 s ful
QUTLET INLET
95 M a2
N n255 16
L
WA Z /,,/CT-\.\
/1
Heot |- - 2 WP
2 2 DA O
: | \Qj
Gi/4 50 Gi/4
AA
53%
7
bl #E BAES fRRE BiERE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
b
BKP0.581-D-0.19 019 200 230 250 7000 1000 60 51 212
BKPO.581-D-0.26 0.26 200 230 250 7000 1000 60.5 515 25
BKP0.5B1-D-0.38 0.38 200 230 250 7000 1000 615 525 2
BKP0.5B1-D-0.50 0.50 200 230 250 7000 1000 625 535 285
BKP0.581-D-0.85 065 200 230 250 7000 1000 635 545 2
BKP0.5B1-D-0.75 0.75 200 230 250 7000 1000 64.5 855 295
BKP0.581-D-0.88 088 200 230 250 7000 1000 65.5 5.5 30
BKP0.581-D-1.00 1.00 200 230 250 6000 850 66.5 575 305
BKP0.5B1-D-1.25 125 200 230 250 5000 700 685 59.5 35
BKP0.5B1-D-1.50 150 200 230 250 4000 600 705 615 25
BKPO.5B1-D-1.75 175 180 210 230 4000 600 725 635 335
BKP0.581-D-2.00 200 160 190 210 3000 500 745 65.5 345




BKP0.5A0

)

FE: G1/4 B4R 12.

LT, nd4 M5 ETHEREH

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

End cover; G1/4 thread depth 12.
To mount the pump, n.4 M5 screws,

' 54+0.5Nm, with a torque wrench setting fixed
.° i M6 EBHIEREH 7 Nm. at5.4+0.5 Nm.
Shaft M6 nut, with a torque wrench
\_ ’ - setting fixed at 7 Nm.
9
im0 HimQ
INLET OUTLET
2 M 16
B 8 5 1. 966
/N \
KA - \
<D
88| ol = ) @@(
= § N P — @2 B _w \__
o v vy
e A & ) 0 |
@ ~ gle
\ :
N
75 A-A 4 12 50
2—%.014
#8650,
Ak 31 EXEAN fRkE RIEHE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BKP0.5A0-D-0.19 019 200 20 250 7000 1000 60
BKP0.5A0-D-0.26 0.26 200 20 250 7000 1000 605
BKP0.5A0-D-0.38 0.38 200 20 250 7000 1000 615
BKP0.5A0-D-0.50 0.50 200 20 250 7000 1000 625
BKP0.5A0-D-0.65 065 200 20 250 7000 1000 635
BKP0.5A0-D-0.75 0.75 200 20 250 7000 1000 64.5
BKP0.5A0-D-0.88 0.88 200 20 250 7000 1000 65.5
BKP0.5A0-D-1.00 1,00 200 20 250 6000 850 66.5
BKP0.5A0-D-1.25 1.25 200 20 250 5000 700 68.5
BKP0.5A0-D-1.50 1,50 200 20 250 4000 600 705
BKPO.5A0-D-1.75 175 180 210 20 4000 600 725
BKP0.5A0-D-2.00 200 160 190 210 3000 500 745




BKP0.5A1

_\\\

G1/4 SBA4UR 9.

RERM, nd M5 ETRERTES

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP

G1/4 thread depth 9.
To mount the pump, n.4 M5 screws,

_. ' . 54+0.5Nm, with & torque wrench setting fixed
< S $h0h M6 FEHBIERTER 7 Nm, at5.405Nm.
Q - 23S ; Shaft M6 nut, with a torque wrench
. _. - setting fixed at 7 Nm.
0
ik e #an
OUTLET INLET
21 M
L 16 12 4
8 8 1.) 866
/ . \
A
I DO O
< — D @ }( =T 88
D \S) —='3
- +—J R 8|8 = At -1~ =
A | N
i g
\ ,
|
jaa)
G1/4 AA % G1/4
2-?1014 50
-] £
©w \.
#6350
A #E BXEAD b L RiERE R
Type Displacement Max pressure Max. speed Min. speed Dimensions
(omrey) br b bar (fmin) (tfin). mm
BKP0.5A1-D-0.19 0.19 200 230 250 7000 1000 60 212
BKP0.5A1-D-0.26 0.26 200 230 250 7000 1000 605 215
BKP0.5A1-D-0.38 0.38 200 230 250 7000 1000 615 28
BKP0.5A1-D-0.50 0.50 200 230 250 7000 1000 625 285
BKP0.5A1-D-0.65 0.65 200 230 250 7000 1000 63.5 29
BKP0.5A1-D-0.75 0.75 200 230 250 7000 1000 64.5 205
BKP0.5A1-D-0.88 0.88 200 230 250 7000 1000 655 30
BKP0.5A1-D-1.00 1.00 200 230 250 6000 850 66.5 305
BKP0.5A1-D-1.26 1.25 200 230 250 5000 700 68.5 35
BKP0.5A1-D-1.50 1.50 200 230 250 4000 600 705 325
BKP0.5A1-D-1.75 175 180 210 230 4000 600 725 35
BKP0.5A1-D-2.00 200 160 190 20 3000 500 745 345




BKP0.5B2R-VQ1

FE. G1/4 B4R 12.
RERH, n2M5 BTRERTER
5.4+05Nm,

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

End cover; G1/4 thread depth 12.
To mount the pump, n.2 M5 screws,
with a torque wrench setting fixed

; ey at54+0.5 Nm,
QL
>
Q‘*"”,if 2
#ihn k0
INLET OUTLET
2 95
Gild N 16 16
55n2 4
A 8
D~ — B
| (@) (/N0
N D) S - D ()
= \J S ] N
2 He NUA —— = S
— ] AL A = ) ™
A W (B //kh — 8 (A
o G L =TT
; .
55n.2
50
9.6n.2
76 A-A
st
% 3 BXEN Rtz BIEHE R
Type Displacement Max pressure Max. speed Min. speed Dimensions
BKP0.5B2-R-0.19-vQ1 0.19 150 170 190 7000 1000 68 51
BKP0.5B2-R-0.26-VQ1 0.26 150 170 190 7000 1000 68.5 515
BKP0.582-R-0.38-VQ1 0.38 150 170 190 7000 1000 69.5 525
BKP0.5B2-R-0.50-VQ1 0.50 150 170 190 7000 1000 705 53.5
BKP0.5B2-R-0.65-VQ1 0.65 150 170 190 7000 1000 715 545
BKP0.582-R-0.75-VQ1 0.75 150 170 190 7000 1000 725 509
BKP0.582-R-0.88-VQ1 0.88 150 170 190 7000 1000 735 56.5
BKP0.582-R-1.00-VQ1 1.00 150 170 190 6000 850 74.5 515
BKP0.5B2-R-1.25-VQ1 1.25 150 170 190 5000 700 76.5 50.5
BKP0.582-R-1.50-VQ1 1.50 150 170 190 4000 600 785 615
BKP0.582-R-1.75-VQ1 175 150 170 190 4000 600 80.5 635
BKP0.582-R-2.00-VQ1 2.00 150 170 180 3000 500 82.5 65.5

10



11

BodeniHilii#[x

HIGH PRESSURE GEAR PUMP
BKPO0.5
BiZ/FRONT COVER H/SHAFTS
32 4 95 21
n255 " 8 8
Bl AT o\ '_ 5 ]
T an\x N | = i
8 \'\\;‘j}{! \} = i = : 1
&l p N ! | ©
< 2
B0 G0 (0
RAHE mAHE
Max.Torque 10Nm Max.Torque 8Nm
2 4 95 21
n255 8 8
P '_ B B
N© @R\ N l po= i
s gl [\ = g i
- D L L | o
T 1 Pk
< 2
Bi G0 (0
RAHE mAHE
Max.Torque 10Nm Max.Torque 8Nm
n266 4_ 08 b
- / NS 8 s
8y (NG S " —
s 11 N6l = B g
RSEEAR | i
B \ Fan) /ui b Ol :_J < =
< 2
N L G0 (0
RAHE mAE
Max.Torque 10Nm Max.Torque 8Nm
n266 4_ it ”
- 8 8
S = F f
8 = I = i
i = il
L] ] 55 ] 2=
< 2
M G0 (0
RAHE mAHE
Max.Torque 10Nm Max.Torque 8Nm




Bodeni#iifii&E

HIGH PRESSURE GEAR PUMP
BKP0.5
it B/PORTS
‘ Ak i) A
TYPE INLET OUTLET
BKPO.5..0.19 + BKP05..2.00 M10x! M10x1
@L ik i) A
TYPE INLET OUTLET
BKPO.5...0.19 + BKPO.5..2.00 Gi/4 #55
@L Ll i) A
TYPE INLET OUTLET
BKPO.5..0.19 + BKPO.5..2.00 638 955
g @»
‘ ik i) A
TYPE INLET OUTLET

BKP05..0.19 + BKPO..200 Gl Gt

12



13

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP
{7/ HOW TO ORDER
BK | P | 1 || WE o} mE || B || mp || WMO&E || mH || WER
Front cover Rotation Size Shat Ports Ports position Seals Options

| | | T | |

#il5 P- %R e ) TRt 5146 0.8

Series Pump Group Clockwise 11

al bl 13

Counter 16

clockwise 18

@ TERR | [ 21

Reversible

2.7

o 32

37

42

4.8

5.8

70

8.0

HWOGE Ports position
E B Omit-Side inlet and side outiet
A-BTERTH A-Frontinlet and front outlet
B-HiftAiit B-Back inlet and front outlet
C-Fift (C-Back inlet and side outlet
D-Mit it D-Side inlet and front outlet
R-E#EH R-Back inlet and back outlet
i3] Seals

LR EEREE-10T-+80C RO B EHE N H%bar,
V-ERTEENR, REEEE-10C~+120C,
H-EBFEEN R, BEEEE-40C-+80TC,
T-E R i 0§ A Eh3~6bar,

N-i& F Fitih (B A 4% B h3~10bar,

3561 Examples:

Omit-Range between -10'C and +80C,inlet pressure up to max. 3 bar absolute.
V-Version suitable for fluid at hi-temperatures, range between -10°C and +120TC.
H-Version suitable for fluid at low-temperatures, range between -40°C and +80°C.
T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.

N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

BKP1-Q0-D-0.8-G0-L1-B= IEM$i#, HE08cclrev, Q0 HIE, GO RENM, L1 RO, R, Hehs

clockwise rotation, 0.8 cc/rev, QO front cover, GO tang shaft, setting ports L1 type, back inlet and front outlet (B), standard seals
BKP1-Q1-D-08-G0-L3= J@RistéE, HEE 0.8cclrev, Q1 B, GOREMME, L3REHO, ks

clockwise rotation, 0.8 cc/rev, Q1 front cover, GO tang shaft, setting ports L3 type, standard seals
BKP1-B0-D-0.8-TO-FO-N= JEB$tH, #E 0.8 colrev, BO B2, T0 1.8 M4, FOREMN BEREN)

clockwise rotation, 0.8 cc/rev, BO front cover, 1:8 tapered shaft(T0), setting ports FO type, high pressure seals(N)



BKP1Q0

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

e R G3/8 BAR 12, End cover: G3/8 thread depth 12.
> REFH, n2 M8 BETHEREH To mount the pump, n.2 M8 screws,
27+ 3 Nm. with a forque wrench setting fixed
at27+3 Nm.
/
i n ufi 1)
INLET OUTLET
6 12 M 4
1 N g10
65
g LT
— = TN o\
82| 3| a2 | N)\"{/f m\\ d
5| S E ) =
= - &% =g =
/ =,
I 3 P\
S L S, 4
HH““"--..C)/
8 n286 23
g HE BXEH BRkE RifE R+t
Type Displacement Max pressure Max. speed Min. speed Dimensions
BKP1Q0-D-0.8 08 230 250 270 6000 1000 735 615
BKP1Q0-D-1.1 1 230 250 270 6000 1000 74 62
BKP1Q0-D-1.3 13 230 250 270 6000 1000 75 63
BKP1Q0-D-1.6 16 230 250 270 6000 1000 76 B4
BKP1Q0-D-1.8 18 230 250 270 6000 1000 m 65
BKP1Q0-D-2.1 21 230 250 270 6000 1000 8 66
BKP1Q0-D-2.7 27 230 250 270 6000 800 80 68
BKP1Q0-D-3.2 32 210 230 250 5000 800 82 70
BKP1Q0-D-37 3 20 230 250 4500 800 84 72
BKP1Q0-D4.2 42 210 230 250 4000 800 86 74
BKP1Q0-D4.8 48 190 20 230 3500 600 86 76
BKP1Q0-D-5.8 58 190 210 230 3000 600 92 80
BKP1Q0-D-7.0 70 160 180 200 2500 600 9 84
BKP1Q0-D-8.0 80 160 180 200 2100 600 100 88




15

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP
M6 B4R 12. M6 threads depth 12.
RERM, n.2 M8 BETHIEREN To mount the pump, n.2 M8 screws,
. 27+3Nm. with a torque wrench setting fixed
q' at 27+ 3Nm.
v: '
w0 #hA
OUTLET INLET
8 N 86 M
40 L 12
g10 , 65
g | o im\
] —— (TN AN —|—T=|—
82| el N T
B D)) o e 0
2 H—LX \% —le| ® O H
=13
1| sl D QO A | O ¥
— — \ — —
\"‘"-..
12 0286 12
%0 n4 M6 n4 Mg 30
g 3 BAEN BERE Bit#E R+
Type Displacement Max pressure Max. speed Min. speed Dimensions
BKP1Q1-D-08 08 230 250 270 6000 1000 735 615 328
BKP1Q1-D-1.1 11 230 250 210 6000 1000 74 62
BKP1Q1-D-1.3 13 230 250 270 6000 1000 75 63 35
BKP1Q1-D-16 16 230 250 270 6000 1000 76 64
BKP1Q1-D-1.8 18 230 250 210 6000 1000 m 65 U5
BKP1Q1-D-2.1 21 230 250 210 6000 1000 8 66
BKP1Q1-D-27 27 230 250 210 6000 800 80 668
BKP1Q1-D-3.2 32 210 230 250 5000 800 82 70
BKP1Q1-D-3.7 37 210 230 250 4500 800 84 72
BKP1Q1-D4.2 42 20 230 250 4000 800 86 74
BKP1Q1-D-4.8 48 190 20 230 3500 600 88 76 40
BKP1Q1-D-5.8 58 190 210 230 3000 600 92 80 42
BKP1Q1-D-7.0 70 160 180 200 2500 600 % 84 4
BKP1Q1-D-8.0 80 160 180 200 2100 600 100 88 4%




BodenigiiiiFE

HIGH PRESSURE GEAR PUMP
G3/8 B4R 12. (3/8 threads depth 12.
o RERM, 0.2 M8 BITHEST N To mount the pump, n.2 M8 screws,
N g 27 £3Nm. with a torque wrench setting fixed
R G N ' at27 +3Nm.
IQ‘ I! ‘ p M |
A ] S &
:'? - nf_ &7 Vo
\A"J
afi ] 0
OUTLET INLET
N 66 M 7
40
065, 5001 L
—_— s -0.06
g / NV ‘"h..._\h
= Vi ~——|—
s NN | =
- . - _ﬁ f’\ I E’
I =2 P LO | q
45 - a N / - -
M“""--..C
G3B n286 G38
k] #E BXES REkE RitiEE R+t
Type Displacement Max pressure Max. speed Min. speed Dimensions
BKP1Q2-D-0.8 08 230 250 270 6000 1000 735 615 328
BKP1Q2-D-1.1 11 230 250 210 6000 1000 74 62 3
BKP1Q2-D-1.3 13 230 250 200 6000 1000 75 63 335
BKP1Q2-D-1.6 16 20 250 270 6000 1000 76 64 34
BKP1Q2-D-1.8 18 230 250 210 6000 1000 m 65 5
BKP1Q2-D-2.1 2.1 230 250 210 6000 1000 78 66 35
BKP1Q2-D-2.7 27 230 250 270 6000 800 80 68 36
BKP1Q2-D-3.2 32 210 230 250 5000 800 82 70 7
BKP1Q2-D-37 37 20 230 250 4500 800 B84 mn 38
BKP1Q2-D-4.2 4.2 210 230 250 4000 800 86 74 39
BKP1Q2-D-4.8 48 190 210 230 3500 600 88 76 40
BKP1Q2-D-5.8 58 190 210 230 3000 600 92 80 12
BKP1Q2-D-7.0 10 160 180 200 2500 600 % 84 4
BKP1Q2-D-8.0 80 160 180 200 2100 600 100 88 4

16



17

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP

Y M6 $B4LR 12. M6 thread depth 12.
’ ) RHRR, nd4 M8 BETHIERTA To mount the pump, n.4 M8 screws,
w_— 27 £3Nm. with a torque wrench setting fixed
‘»a ° . Sl M7 EHEREH 8 Nm, at 273 Nm.
- 2 v Shaft M7 nut, with a torque wrench
v setting fixed at 8 Nm.
o -9
°
g0 s ful
OUTLET INLET
4 153 67 M 2
524 L 20 9
ﬂb‘ - =]
= — % |~ —a% | Hh ==
| E—F dﬁ == A\ =18
12 12 AA
30 \ﬂ 0 -
& = 24 %
A #E BXEA BRiE Bit#E R+
Type Displacement Max pressure Max. speed Min. speed Dimensions
BKP1B0-D0.8 08 230 250 270 6000 1000 735 28
BKP1B0-D-1.1 1.1 20 250 210 6000 1000 74 3
BKP1B0-D-1.3 13 20 250 270 6000 1000 75 35
BKP1B0-D-16 16 230 250 270 6000 1000 76 U
BKP1B0-D-1.8 18 20 250 210 6000 1000 m 35
BKP1B0-D-2.1 2 230 250 270 6000 1000 8 3%
BKP1B0-D-27 27 230 250 210 6000 800 80 %
BKP1B0-D-32 32 210 20 250 5000 800 8 37
BKP1B0-D-37 37 210 20 250 4500 800 8 38
BKP1B(-D4.2 42 210 20 250 4000 800 8 39
BKP1B0-D4.8 48 190 210 20 3500 600 8 40
BKP1B0-D58 58 190 210 20 3000 600 ) 42
BKP1B0-D-7.0 10 160 180 200 2500 600 % 4
BKP1B0-D-8.0 80 160 180 200 2100 600 100 46




BKP1B0-Y

M6 SRLUR 12,
RESM, n4M8  ESTHEETEH
27 £3 Nm,

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

M6 thread depth 12.
To mount the pump, n.4 M8 screws,
with a torque wrench setting fixed

§25432

e ‘n n 8 M7 BEBHIEIEEHS Nm. at27 +3 Nm.
_ o B Shaft M7 nut,  with a torque wrench
w ' sefting fixed ~ at 8 Nm.
A ¢
i’
]
o #iE0
QUTLET INLET
4 153 100 M 29
67 L 0 9
524
S U & 5
é N " [ =2
T ! \\f} € 4F N
=] D N
R, \2)¥i
| |2 e & Ll I
JE e N £
2] |\ @ [\ 12 AA
0 n4 M6 n475 30 &
55 ° 245
ik HE BREN SRRE it Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 M
BKP1B0-D-0.6-Y 08 230 250 270 6000 1000 328
BKP1B0-D-1.1-Y 14 230 250 270 6000 1000 83 3
BKP1B0-D-1.3-Y 13 230 250 270 6000 1000 84 335
BKP1B0-D-1.6-Y 16 230 250 270 6000 1000 85 34
BKP1BO-D-1.8-Y 18 230 250 270 6000 1000 8 345
BKP1B0-D-2.1-Y 21 230 250 270 6000 1000 87 35
BKP1B0-D-27-Y 27 230 250 270 6000 800 89 3
BKP1B0-D-3.2-Y 32 210 230 250 5000 800 9 a7
BKP1BO-D-3.7-Y 37 210 230 250 4500 800 9 3
BKP1B0-D-4.2-Y 42 210 2% 250 4000 800 95 39
BKP1BO-D-4.8-Y 48 190 210 230 3500 600 97 40
BKP1B0-D-5.8-Y 58 190 210 230 3000 600 101 42
BKP1B0-D-7.0-Y 7.0 160 180 200 2500 600 105 44
BKP1B0-D-8.0-Y 8.0 160 180 200 2100 600 109 4

18



BHLP1

aRESHKR

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP

HIGH-LOW MUULTIPLE PUMPS

BHLP1BRERE SR REAR AT RERERHRER S HMERE

FitgEE, MYRERHFERAAMNERBEHNRERS, HHRES

HRAMRINEEREHARLS,

BHLP1 BRESRRER—SHERENANNGKELR (AN TEEK ) ,
ErrZERTHRERN, BAN., FENH, FoNINEERENE,

BHLP1 High—-Low hydraulic gear pumps is

the very ideal pump for applications which
require a quick approach and/or return of

the actuator at low loads and slow motion

of the actuator at high loads. In particular
this model offers the advantage of requiring

lower power of the motor.

BHLP1 High—-Low hydraulic gear pumps is

a special double stage pump with special
integrated valves (as shown in the hydraulic
diagram) has been specially designed for
applications such as trash compactors, log
splitters, clamping mechanisms, crimping

machines, metal forming machines etc.

RASHE Technical features
ARNMEEREN HEMN 1 demIrev  E3.2cm3rev-P1=230 bar

First stage Low displacement high pressure From1. 1cm /revto 3.2cm *fr ev- P1= 230 bar
ERAHEREN HEN37TemIrev  E9.8emirev- ( ENBAERETE)
Second stage High displacement low pressure From 37cm */revio 9.8cm */r ev- (Pressure set by unloadingval ~ ve)
G FEEERES 35 bar

Unloading valve Standard seting3 5 bar

RETE M 100042350045

RPM pump range From 1000 rpm to 3500 pm

IEZiE MBKP1E %

Flanges and shafts Ref. BKP1 catalogue

WA Wi, mORSALS

Ports Common inlet. Common outlet. Side ports code L5

1. First stage high pressure
2. Second stage low pressure
3. Unloading valve

19



Bodeni§ i &

HIGH PRESSURE GEAR PUMP

2%
I <
-5 8 w
=
=
__JI g ‘;
= 15
<7 2
RAHIE
Max.Torque 23 N

g5

20

T0

L
ih

i

IRE

v 5|2
=18

< 24

RAHE

Max.Torque 25 Nm
30

II

(38571

i

L (2
=18

< 24

RAHE

Max.Torque 25 Nm
29

i g

I

|

i

i_ r~ |2
| ==

§

BH/SHAFTS

25Nm

RAHE
Max.Torque

20 Nm

ruur:"yl.uuu:

G0
mAHE
Max.Torque 20Nm
I
gl
a=
A
<
1 45
G1
mAHE
Max.Torque 20Nm
65

BAHE

G0
Max.Torque 20Nm
65
i
iull. -
2|

&
=
=
=
Q1

¥

ni.

Max.Torque

BAHE

40

BKP1

A 5/FRONT COVER

R
o

ﬁkﬂdn < o7 < o7 o
147 /ﬂ&mﬂ o ] 72

_\. = Fm Fmr | | -

(/8 Ve N Ve N & )
&% * {0 " {09 i
hot e e T
b im 8o 26 8ol 26 | 2% o




Bodeni#@iifii&E

HIGH PRESSURE GEAR PUMP

W/PORTS
@ i a0 0
TYPE INLET OUTLET
BP1.08 + BPLB0 ot 5
@ g i ] 0
TYPE INLET OUTLET
BP1.08 + BP1 80 s 59
@ g a0 0

TYPE INLET OUTLET

BKP1..0.8 + BKP1..8.0 3BNPT g9

TYPE INLET OUTLET

N0
g @
: it i##0 Hi#m

BKP1..0.8 + BKP1..8.0 G3/8 G1/4




Bodeni#iifii&E

HIGH PRESSURE GEAR PUMP
i C/PORTS
g
: 4 0 i
TYPE INLET OUTLET
o108 + 01,80 e s
g
: 4 0 i
TYPE INLET QUTLET
20 BKP1..0.8 + BKP1..8.0 M18x1.5 M14x1.5
i
a8 4 0 40
\_ =
n4Cic)
FO BKP1..0.8 + BKP1..8.0 30 12 Mé 30 12 M6
—D -
TN
g 6 ()0
e /
- 4 0 40

BKP1..08 + BKP1..8.0 30 12 M6 30 12 M6

22



23

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP
WTiTH/ HOW TO ORDER
o o H o H iiE || el | @i (| W@ || @D || WDEE || #¥ || WER
Front cover Rotation Size Shatt Ports Ports position Seals Options
T I I I T I
Zis P- 8% a5 5 o| | FiEE 14
Series Pump Group Clockwise 94
BA-BI, FE | [M-E&RDE a0 BT 28
HEAREE Motor S | Counter 35
BA-Front and clockwise a1 A3 / Options
end cover Qo AE ﬁ% :
material R : 52 Hi%  (Drain
aluminum Reversible 6.2 it
BH- . E2HH 76 QO-pafisim / internal draip
Atk EAlLBA 93 Qi-5ME# | extemal drain G1/4
Z3U& 30bar Q2-4hiBfki | exteral drain 7/16-20 UNF
BH-Front and L0 Q3-51eB#3 / exteral drain 9/16-18 UNF
end cover material 138
castiron,
pressure than
"BA"series high
30 bar.
HOE Ports position
ER-TENH Omit-Side inlet and side outlet
A-RrstE A-Front inlet and front outlet
B-RiftAIH B-Back inlet and front outlet
C-Fift C-Back inlet and side outlet
D-flif A D-Side inlet and front outlet
R-RitEH R-Back inlet and back outlet
i Seals
HR-BEHEEA-10C-+80C E AR AT E S Hbar, Omit-Range between -10'C and +80C,inlet pressure up to max, 3 bar absolute.
V-BRTERME, REEEE-10C-120T, V-Version suitable for fluid at hi-temperatures, range between ~10°C and +120TC.
H-ERTREN R, REEEE40T-+80C, H-Version suitable for fluid at low-temperatures, range between -40°C and +80T.
H-ERTERME, REEEE-40C~480C, T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-i2 A Fitt i O R A S A 3~10bar, N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.
$afl/ Examples:

BAP1-B0-D-14-TO-E0=  MiI§4, #2 14ccrev, BOBE, TO1:88MME, E0%RMA, Hkihy

clockwise rotation, 1.4 cc/rev, BO front cover, 1:8 tapered shaft(T0), sefting ports EO type, standard seals
BAP1-A0-D-14-CO-R0=  NEREHEE, HEE 1.4 colev, AO BT, COEHSMR, ROLEMD, i

clockwise rotation, 1.4 ccirev, AQ front cover, CO parallel shaft, setting ports RO type, standard seals
BAP1-Q0-D-14-C2-U0-N= WiF$t¥, #E 14 colrev, BOBIE, C2 EHEHME, U0 REMDBEHSN)

clockwise rotation, 1.4 cc/rev, QO front cover, C2 parallel shaft, setting ports UO type, high pressure seals(N)



Bodeni§iiniFE

HIGH PRESSURE GEAR PUMP
M6 #40R 13. M6 thread depth 13.
| v ) ZRRE, ndM8 BETAERTH To mount the pump, n.4 M8 screws,
“_ Sy ! 27 +3Nm. with a torque wrench setting fixed
& Y $ih M10 SBHERTEH 40 Nm. a 27+ 3Nm.
: ') Shaft M10 nut, with a torque wrench
ad i
setting fixed at 40 Nm.
L] Q‘ ‘ j ¢
al N "
Ll
ip #Hn
OUTLET INLET
68 M 35
L
55 n4M6 5% n4 M6 165 115
n465
LA
88 |_=|*=Y=T I B U = 0. Y | e B
P = 7 \ " ,/,\3 =
= M .o ™ gle ('\ _ ™
\.( \J ( \J,J'
! A s s
= ~ f - L
] M10x1
E H - =18
13 66 13
AA 30 30
35
)
N7
b HE RAEN REEE RiEHE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BAP1B0-D-1.4 14 250 210 290 6000 800 805 4
BAP1B0-D-21 21 250 270 290 6000 800 825 4
BAP1B0-D-28 28 250 270 290 5000 800 845 4
BAP1B0-D-3.5 35 250 210 290 5000 800 86.5 43
BAP1B0-D-4.1 44 250 270 290 4000 800 885 4
BAP1B0-D-5.2 5.2 230 245 260 4000 800 91.5 455
BAP1B0-D-6.2 6.2 230 245 260 3800 800 94.5 47
BAP1BO0-D-7.6 16 200 215 230 3200 600 98.5 49
BAP1B0-D-9.3 93 180 195 210 2600 600 103.5 515
BAP1B0-D-11.0 1.0 170 185 200 2200 600 108.5 54
BAP1B0-D-13.8 138 150 165 180 1800 600 1165 58

24



25

BAP1A0

DHCEIRRAMT, AOKE

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP

"D" and "d" ports are machined in

‘ B4 E0HITAISAE J1926/1 compliance with threaded port with
(1SO J1926-1), O-ring seal in truncated housing
RRRE, ndM8 BTHERT S SAE J1926/1(1SO J1926-1).
27+3Nm. To mount the pump, n.4 M8 screws,
1) with a torque wrench setting fixed
at27+3 Nm.
H#n i 1]
OUTLET INLET
102 27
64
82.55 L 19
125
g L] L d % L |
(R 1=t =R 51 | =) =
0 N S g i

Pt
-

d 66
AR |
3.18

@ =

i HE RAEN BERE BiR&E R+

Type Displacement Max pressure Max. speed Min. speed Dimensions
BAP1AQ-D-14 14 250 270 290 6000 800 825 42 PT1/2 PT3/8
BAP1AQ-D-2.1 21 250 270 290 6000 800 845 43 PT112 PT3/8
BAP1AQ-D-2.8 28 250 270 290 5000 800 86.5 44 PT112 PT3/8
BAP1AQ-D-35 35 250 210 290 5000 800 885 | 45 PT112 PT3/8
BAP1A0-D-4.1 41 250 270 290 4000 800 90.5 46 PT112 PT3/8
BAP1A0-D-5.2 52 230 245 260 4000 800 935 | 415 PT112 PT3/8
BAP1A0-D-6.2 6.2 230 245 260 3500 800 %5 | 49 PT112 PT3/8
BAP1AQ-D-7.6 76 200 215 230 3000 600 1005 | 51 PT3/4 PTif2
BAP1A0-D9.3 93 180 195 210 2500 600 1055 | 535 PT3/4 PT112
BAP1A0-D-11.0 1.0 170 185 200 2500 600 1105 | 56 PT3/4 PT1R2
BAP1A0-D-13.8 138 150 165 180 2000 600 1185 | 60 PT3/4 PT1/2




BAP1Q0

D'HBOERAMT, AOKE

T#, Z0HIFASAE J1926/1

(10 J1926-1),
RHERA, nd M8 STHEREH

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

*D"and "d" ports are machined in
compliance with threaded port with

O-ring seal in truncated housing
SAE J1926/1(1SO J1926-1).

2713 Nm, To mount the pump, n.4 M8 screws,
with a torque wrench setting fixed
at27 +3Nm.
0 i
OUTLET INLET
75 M 382
32 o 50.8 L 34
85
hﬁ — —
i »: i
g . P
2 —3E= i N = i = -
2 N o B -
= _ = = 4( I} _
5
sl .- ! e 5
=
— -
D
A-A
318
1 #E BAEN SRR RiEHE R+t
Type Displacement Max pressure Max. speed Min. speed Dimensions
BAP1Q0-D-1.4 4 % | 70 | 6000 800 o | 59 | JAI6UNF | OfGIBUNF |
BAP1Q0-D-21 24 250 2 290 6000 800 100 | 60 Y4-6UNF | 916-18UNF
BAP1Q0-D-28 28 250 270 290 5000 800 102 | 81 34-16UNF |  OMB-18UNF
BAP1Q0-D-35 35 250 210 290 5000 800 104 | 62 J4-16UNF |  OM6-18UNF
BAP1Q0-D-4.1 41 250 270 290 4000 800 106 | 63 Y4-6UNF | O116-18UNF
BAP1Q0-D-5.2 52 230 245 260 4000 800 109 | 645 | 34-16UNF | 91B-18UNF
BAP1Q0-D-62 62 230 245 260 3500 800 12 | 66 J4-16UNF |  9116-18UNF
BAP1Q0-D-7.6 16 200 215 230 3000 600 116 | 68 TI8-14UNF 3/4-16UNF
BAP1Q0-D-0.3 93 180 195 210 2500 600 121 | 705 | 78-14UNF 3/4-16UNF
BAP1Q0-D-11.0 1.0 170 185 200 2500 600 126 | 73 T/8-14UNF 3/4-16UNF
BAP1Q0-D-13.8 138 150 165 180 2000 600 4 | 7 7/8-14UNF 3i4-16UNF

26



27

BHM1A0

"D HOEEAMI, ROEE

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP

"D" and "d" ports are machined in

Z4 EMHIFRISAE J1926/1 compliancewith threaded port with
(ISO J1926-1), 0-ring seal in truncated housing
RETM, nd MOESTHERTH SAE J1926/1(1SO J1926-1).
30 £3Nm. To mount the pump, n.4 M8 screws,
with a torque wrench setting fixed
[ at 30+ 3Nm.
T/ ]
L]
M 27 102
L 19 82.55 6.4
9 66
- RA
[
N | %?Qr\ N, J T 3
L ‘ (C N ¥ fan =51 1 !
- f \ | | — =| SN == & .
NSZZ28 I I EIA | 72\ I ||
0 5 A g - |
= T = y
D G1/4 0
AR
318
Pr=mmiE EMAES Pr=max peak input pressure = |
Pe-REEELERESN Pc= max pressure continually as output counterpressure
PR Rt EAES Pi= max peak input pressure continually
g = BREN BEiE BT R+
Type Displacement Max presstire Max, speed Min. speed Dimensions
Pi Pc Pr M L D
{emTrev) bar bar bar (r/min) (rimin) mm mm
BHM1A0-R-1.4-Q1 14 270 260 290 5000 800 825 42 3/4-16UNF
BHM1AO-R-21 -Q1 21 270 260 290 5000 800 845 43 3/4-16UNF
BHM1A0-R-28 -1 28 270 260 290 5000 800 86.5 44 3/4-16UNF
BHM1AO-R-35 -O1 35 270 260 290 5000 800 88.5 45 34-16UNF
BHM1A0-R-4.1 -Q1 41 270 260 290 4000 800 905 4 3/4-16UNF
BHM1A0-R-52 -Q1 52 260 250 275 3500 800 935 475 3/4-16UNF
BHM1A0-R-6.2 -Q1 6.2 260 250 275 3000 800 96.5 49 J/4-16UNF
BHM1AO-R-76 -Q1 756 230 220 245 3000 600 1005 51 7/8-14UNF
BHM1A0-R-8.3 Q1 93 210 200 225 3000 600 1055 535 T7/8-14UNF
BHM1A0-R-11.0 -Q1 1.0 200 190 215 2500 600 1105 56 7/8-14UNF
BHM1A0-R-138 -O1 138 180 170 185 2200 600 1185 60 7/8-14UNF




Bodenl#ifii&IE

HIGH PRESSURE GEAR PUMP
Fil&/FRONT COVER H{R/SHAFTS
56 55 35 35 12
65 165 15 15| il
B B T
I T =
_j- —| ey 2 Ir" — irj
8= ! g S ' 65
= 18 = =
<7 3 <7 3
[ G0
EAHE RAHAE EAHE
Max.Torque 100 Nm Max.Torque 55Nm Max.Torque 45 N
27 27 27
L L 19 19
i [
| | |
g 1Tz B : 5
i ! ~ i i |
S Cos -
& 318 DP20/40-30° T < ¢
(o] ]
EAHE RAHE RAAE
Max Torque 60 Nen Max.Torque 100 Nm Max.Torque TUHm
85 382 05 8
508 5 ——f— -—
: U
- I %
I E _ | | 4t
l S Gz @ -
& 318 DP20/40-30° 9T L
(2]
RAHE mAHE mAHE
Max.Torque 1005 Max.Torque L Max.Torque Al D




29

BAP1 [BHP1

BodeniHifiiEE

HIGH PRESSURE GEAR PUMP

il 0/PORTS
= ] /{) ' AN
2 o i %0

g HmoRs iii:[u] Hi#0
= TYPE PORTS CODE INLET QUTLET
= | O [ T [ |

BAP1..14 + BAP1..35 L0 G2 G38
BAP{..41 : BAP1..138 5] Gli2 G2
. BAP1..14 : BAP1..35 L2 G38 638
OLIL2L3 BAP1.41 + BAP1..138 L3 G3i4 G2
" Fl woke i#i0 0
g TYPE PORTS CODE INLET QUTLET
BAP1..14 : BAP1.62 RO PT12 PT3/8
BAP1..76 + BAP1.138 R1 PT3/4 PT1/2
RO/R1/R2/R3 BAP1..14 + BAP1..138 R2 PT112 PTi/2
BAP1..14 + BAP1.62 R3 P38 PTa8
g HARS i ]| H#0
TYPE PORTS CODE INLET QUTLET
BAP1..14 + BAP1..62 uo 3/4-16UNF 9/16-18UNF
BAP1.7.6 + BAP1..138 U1 7I8-14UNF 3/4-16UNF
BAP1..14 + BAP1..62 uo 3/4-1BUNF 3/4-16UNF
Uo/u1/u2iu3 BAP1..76 + BAP1..138 Ut 7I8-14UNF 7/8-14UNF




BAP1.5

fmfIiT#/ HOW TO ORDER

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

BA P

1.5

HE
Front cover

iR ik B o HAOE i Rl
Rotation Size Shaft Ports Ports position Seals Options

I I [
252 P- iR a3
Series Pump Group

I
IR
Clockwise

i}

Bt
S | Counter
clockwise

TERE
Reversible

w (oo (on (wn [~ | [P

—

i
P

Seals

LR EEEE-10C~+80 C H DS B 6 E 5 3bar,

V-ERTRENR, BELEE-10C-+120C,

H-BRFREAR, BEEEE-40T-+80C,
T-E ATl AR AR /13-6bar,
N8 73 F st CLR 404 B 13~1Obr,

A5/ Options

Omit-Range between -10'C and +80C.,inlet pressure up to max. 3 bar absolute.
V-Version suitable for fluid at hi-temperatures, range between -10°C and +120T.
H-Version suitable for fluid at low-temperatures, range between -40°C and +80°C.
T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.

N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

7
= =®
R, M,
HERERBRHN, HERRIH
##IEH P1=5...2500ar, #HEH P1=5...2500ar,
Pressure relief valve. Pressure relief valve,
Discharge refurned to suction. Discharge returned to exterally.
P1=5...250 bar. P1=5...250 bar.
182 /0rdering code
1800 | P 120xx |
Ffl/ Examples:
BAP15-Q0-D-2-C0-E0=  IGRi$tS:, H:E 2cclrev, QUBE, COEHHM, EOREMN,

clockwise rotation, 2 cc/rev, Q0 front cover, CO paraliel shaft, setting ports EQ type, standard seals
BAP1.5-Q0-D-2-C0-E0-N= JRT5HH, #& 2 colrev, QUATE, COEAEHM, E0 REMOBEMHN)
clockwise rotation, 2 cc/rev, Q0 front cover, CO parallel shaft, setting ports EO type, high pressure seals(N)

30



31

BAP1.5Q0

-

9

M6 B4R 16.
RERH, nd M0 BTHERER

BodenififiiEE

HIGH PRESSURE GEAR PUMP

M6 thread depth 16.
To mount the pump, n.4 M10 screws,

= 47 £3Nm, with a torque wrench setting fixed
- Tl at47+3Nm.
a ﬁl »
- "
i i1
OUTLET INLET
815 M 318
38 nd4Ms 835 437
Ind m
n4 Mg
pA — —
~ E
TE = = % | | w0 't;)' j;\ —
i E<e Jh 1S
\ = 2 f i -8
Ly & i e o
A T \/ 1% \/ T o
=,
145 102 145
AA
4
:E
ik HHE SRES BE4E RIERE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 R _| P M
br b b (i (tfmin) |
BAP1.5Q0-D-2 2 210 20 250 5000 900 9.7
BAP1.5Q0-D-3 3 210 230 250 5000 850 9.7
BAP1.5Q0-D4 4 210 230 250 4500 800 9.7
BAP1.5Q0-D-5 5 210 230 250 4000 800 9.7
BAP1.5Q0-D-6 6 210 230 250 3500 700 99.7
BAP1.5Q0-D-8 8 210 230 250 3000 600 99.7
BAP1.5Q0-D-9 9 180 200 220 2500 550 1027
BAP1.5Q0-D-11 1 180 200 220 2000 500 105.7
BAP1.5Q0-D-12 12 180 200 20 2000 500 1057




BodenigiiiiFE

HIGH PRESSURE GEAR PUMP
BAP1.5Q0-Px
- MEELIE 16, M6 thread depth 16.
_ h) LLTH, nd MOETHSERER To mount the pump, n.4 M10 screws,
Ma.- 47 +3Nm. with a torque wrench setting fixed
™ - | . ’{
. ¥ L@, at47+3Nm.
) -5 {
< =
n.---h |
. |
) —
318 M , 815
735 1 n4 M 635
9nd
PT1/4 38
A %
& 11D a : F et
145 o
© KEB ] 5 gl [ %l 1 L o o
— Fﬁg: s < T 8| B »
—roER BT | i Shhk
o & A =
& D iy
16 437 102
AA
R
g #i BXES BE%E Bl R+
Type Displacement Max pressure Max. speed Min. speed Dimensions
BAP1.500-D-2-Px 2 210 250 5000 w0 %7
BAP1.500-D-3-Px 3 210 230 250 5000 850 96.7
BAP1.500-D-4-Px 4 210 230 250 4500 800 967
BAP1.5Q0-D-5-Px 5 210 230 250 4000 800 9.7
BAP1.5Q0-D-6-Px 6 210 230 250 3500 700 9.7
BAP1.5Q0-D-8-Px 8 210 230 250 3000 600 99.7
BAP1.500-D-9-Px 9 180 200 220 2500 850 1027
BAP1.5Q0-D-11-Px 11 180 200 220 2000 500 1057
BAP1.500-D-12-Px 12 180 200 220 2000 500 1057

32



Bodeni{HiiiE

HIGH PRESSURE GEAR PUMP

BAP1.5
BIZ/FRONT COVER B{H/SHAFTS
" 318 355
| 12
5 = —
| w k 2| &
E =18
< 4 < 3
L Q] (00
sAHE RAHE
Max.Torque 60 Nm :M.Turque 0 e

i A/PORTS

) BAP1S.2 + AP 12

33



Bodeni§iiiixE

HIGH PRESSURE GEAR PUMP
{37/ HOW TO ORDER
BA H p H 2 | W= | Jo) | @ || W@ || MO || WOEE || MH¥ || FHEE
Front cover Rotation Size Shaft Ports Ports position Seals Options
I | | I | I
RS P- K#R 45 A 0 GRS §t4% 3
Series Pump Group Clockwise 4 S8 Ports posifion
BA-HI, B® | |M-#R3H B s 6
HRAREE Motor § | Counter 8 ER-MH#ME  Omit-Side inlet and side outlet
BA-Front and clockwise 10 B-E#B#  B-Backinletand front outlet
mm;r o R AERH 12 C-Fi#fildi  C-Backinletand side outlet
aluminum Reversible 14 D-fii##idf  D-Side inlet and front outlet
B #, FEHH # 16 RERRH  R-Backinetand beckoutel
izﬁggﬁw © 18
BH-Frontand @ 20 #EmE (Drain
end cover material Qi 2 Q0-FyBHE / intemal drain
pre?:utr:ammnén z Q1-5hEftkE | exteral dra_in G.1f4
"BA'saries hlgh Q Q2-5hERtkih | external drain 9/16-18 UNF
%0 bar, 30 Q3-4hERtE / extemal drain 7/16-20 UNF
Q4-5pEHER | external drain M12x1 5
it Seals
ER- R EEEE-10C-+80 C M DR B & RE 5 3bar, Omit-Range between ~10C and +80C,inlet pressure up to max, 3 bar absolute,
V-ERTERAR, BEEE#-10C-+120C, V-Version suitable for flid at hi-temperatures, range between ~10'C and +120C.
H-ERFRENR, REEEE-40T~+80C, H-Version suitable for fluid at low-temperatures, range between -40C and +80T.
T-ERFitt 08 K4 H3-Bbar, T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-iZ i F it 1 K 404 FE /73~10bar, N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.
T Options
Qeonst
| PES—— | 1 | P [N e otk 1
| | 1 | |
| | ] | |
| | 1 | |
| | B
| | | e |
| ] | |
| i i |
‘{:@ _:© i j:@ |
- =l I |
| 1 I |
| | 1 I |
| | ] I |
L] Lezeze Pos s e | ST e
i il 18 it CEEEMHREA, ZHEEEE,
HERSEZ®AN, PERRME, FARERFWRRO, FAREERMMO,
${E 1 P1=5..250ar, ESIEE 1 P1=5.,250ar, EHIEE P1=100..800ar, 3% Qoonst=2..30Limin,
Pressure relief valve., Pressure relief valve. Eﬁf#ﬁﬁéﬁfﬂm 3-way flow control valve.
Discharge retumed to suction. Discharge returned to externally. with p{essure rellof vave. Excess flow reh:mgd to suction.
P1=5..250 bar. P1=5...250 bar. Excess flow retumed to suction. Qeonst=2...30 Limin.
P1=100...180 bar.
1782 /Ordering code Qconst= 2...30 Limin.
180
5aBl/ Examples:

BHP2-B0-D-3-TO-E0= EMtS, HEE 3colrev, BO A%, TO1:B%MAME, E0 RXMO, Sk

clockwise rotation, 3 cc/rev, BO front cover, 1:8 tapered shaft(T0), setting ports EO type, standard seals
BAP2-AD-D-3-CO-U0= [GiM&SE, H= 3oohev, AD BT, COEMS, U0REMO, ks

clockwise rotation, 3 cclrev, AQ front cover, CO parallel shaft, setting ports UQ type, standard seals
BHP2-Q0-D-3-T1-FO-N= JEAi5HEE, HE 3 colrev, QUBIE, TO 1:83EMEM, FO RERNBERHN)

clockwise rotation, 3 ce/rev, Q0 front cover, 1:8 tapered shaft(T0), setting ports FO fype, high pressure seals(N)



Bodeni§ifiiEE

HIGH PRESSURE GEAR PUMP
M6 S50 13,M8 B4LR 17. M8 thread depth 13,M8 thread depth 17.
REFRH, nd MO0 BSTHEEEA To mount the pump, n.4 M10 screws,
70...75 Nm, with a torque wrench setting fixed
S M12x1.25 REHEREH 50 Nm. at70..75 Nm.
Shaft M12x1.25 nut, with a torque
wrench setting fixed at 50 Nm.
g0 iig: {0
OUTLET INLET
88 M 4
715 L % 12
5 h 9n4 H 135
KA 3
g -
82
9 H- /ﬁ\ O~ =)
8 & - (™
] i ot 8 g L L =
— (;‘ﬁ” : . (D
A Y e Ly
& M12x1.25
o d D - =18
3.165 9%
b B
3 AA
A #E BXEN BEiE BiE R+t
Type Displacement Max pressure Max. speed Min. speed Dimensions
Pt_| P2 | P8 - M|L|B]D[H[b[d]|h
BHP280-D-3 3 270 285 300 4000 800 914 (436 | 30 |13 | M6 | 30 [ 13 | M6
BHP2B0-D-4 4 210 285 300 4000 600 927 (444 | 30 (13 | M6 | 30 [ 13 | M6
BHP2B0-D-6 6 210 285 300 4000 600 9 |46 |30 |13 | M6 | 30 | 13 | M6
BHP2B0-D-8 8 210 285 300 3500 500 993 (477 | 30 [ 13 | M6 | 30 [ 13 | M6
BHP2B0-D-10 10 210 285 300 3000 500 1026 (493 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-12 12 210 285 300 3000 500 1059 | 51 (40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-14 14 250 265 280 4000 500 1093 (527 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-16 16 250 265 280 4000 500 112.7 [544 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-18 18 250 265 280 3600 400 116 | 56 | 40 | 20 | M8 | 30 | 13 | M6
BHP2B0-D-20 20 220 235 250 3200 400 119.3 [57.7 | 40 | 20 | M8 | 30 | 13 | M6
BHP280-D-22 2 20 235 250 3000 400 1226593 | 40 | 20 [ M8 |30 | 13 [ M6
BHP2B(-D-25 2% 200 215 230 3000 400 1276 (618 | 40 | 22 [ M8 | 30 | 13 | Mg
BHP280-D-28 23 180 190 200 2500 400 1326 (643 | 40 | 22 [ M8 | 30 | 13 | M6
BHP2B0-D-30 30 160 170 180 2500 400 1359 | 66 | 40 | 22 [ M8 |30 | 13 | M6




BodenigiiiiFE

HIGH PRESSURE GEAR PUMP
B % M8 4L 16. M8 thread depth 16.
3 " @ N RERM, nd M0 BTHEREH To mount the pump, n.4 M10 screws,
-~ ¢ 70...75 Nm. with a torque wrench setting fixed
a : at70..75 Nm,
2\ / oy
v @ |
n
0 0
OUTLET INLET
68 M 42
70 L
5 M8 9n4 M8 135
wh =3~ &) ] - %
w ’( %"‘ L
— 8| / \
% = s ,/0‘\ -
] § ‘ (M4
= (( £ %} = 8 (1t = {% IDR¢ I
ke ~,$/' L sz
A 5 o o %
ML i / =
b s
O
d D T
A-A 86
o 3 38
600
ik 48 BXEAN BAkE BiifE Rt
Type Displacement Man pressure Max. speed Min. speed Dimensions
BHP281-D-3 3 270 285 300 4000 800 914 436 14 10
BHP2B1-D-4 4 210 285 300 4000 600 9.1 444 14 10
BHP2B1-D-6 6 270 285 300 4000 600 9% 46 14 10
BHP2B1-D-8 8 210 285 300 3500 500 99.3 417 14 10
BHP2B1-D-10 10 210 285 300 3000 500 102.6 493 18 15
BHP2B1-D-12 12 210 285 300 3000 500 105.9 51 18 15
BHP2B1-D-14 14 250 265 280 4000 500 1093 52.7 18 15
BHP2B1-D-16 16 250 265 280 4000 500 "2 544 18 15
BHP2B1-D-18 18 250 265 280 3600 400 116 56 18 15
BHP2B1-D-20 2 220 236 250 3200 400 1193 51.1 18 15
BHP2B1-D-22 2 220 235 250 3000 400 1226 593 18 15
BHP2B1-D-25 25 200 216 230 3000 400 121.6 61.8 20 15
BHP281-D-28 28 180 190 200 2500 400 1326 64.3 2 15
BHP281-D-30 0 160 170 180 2500 400 1359 66 2 15

36



37

BodenifiiiEE

HIGH PRESSURE GEAR PUMP
BHP2B2
M6 240 13. M6 thread depth 13.
RERM, n4MIO0 BSTHERES To mount the pump, n.4 M10 screws,
70...75 Nm. with a torque wrench setting fixed
S M12x1.5 REHEREH 50 N, at 70...75 Nm.
Shaft M12x1.5 nut, with a torque
wrench setting fixed at 50 Nm.
40 #E0
OUTLET INLET
90 M 38
72
72 9nd L 5.1
T 125
Hﬁ R .-
ok 2%
%2 Z N\ N L / I = E
-~ i i P} __i
LE_[HI Mi2x1.5
390 . 86 > 4 =15
o] W 35 M6 M6 4 8
AA
ik #8 BRES BEiE SR Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2B2-D-3 3 210 285 300 4000 800 91.1 399 15
BHP2B2-D-4 4 210 285 300 4000 600 927 399 15
BHP2B2-D-6 6 210 285 300 4000 600 9% 41 15
BHP2B2-D-8 8 210 285 300 3500 500 99.3 432 15
BHP2B2-D-10 10 210 285 300 3000 500 1026 437 20
BHP2B2-D-12 12 210 285 300 3000 500 105.9 415 20
BHP2B2-D-14 14 250 265 280 4000 500 1093 415 20
BHP2B2-D-16 16 250 265 280 4000 500 127 415 20
BHP2B2-D-18 18 250 265 280 3600 400 116 415 20
BHP2B2-D-20 20 220 236 250 3200 400 119.3 415 20
BHP2B2-D-22 2 220 235 250 3000 400 1226 55,1 20
BHP2B2-D-25 25 200 215 230 3000 400 1216 61.8 20
BHP2B2-D-28 2% 180 190 200 2500 400 1326 643 2
BHP2B2--30 30 160 170 180 2500 400 1359 66 2




BHP2A0[BAP2A0)

DHBOERAMT, AOKE

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

"D"and "d" ports are machined in

B4, EMHITASAE J19261 compliance with threaded port with
(150 J1926-1), O-ring seal in truncated housing
SAE J1926/1(1SO J1926-1).
v
Screws tightening torque Nm
40..45
70..75
@A i |0
OUTLET INLET
130 M R
i 106.4 L 2%
125
kA
FR=i= Sy
- | e " @ — —
by ~
Al |= ~— | E?
w
=,
D
397 9%
= AA
g #E BREN BERE BfE%E Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2A0-D-3 3 270 285 300 4000 800 911 | 436 | 1116-12UNF | 7/8-14UNF
BHP2A0-D4 4 210 285 300 4000 600 927 | 44 | 1116-12UNF TI8-14UNF
BHP2A0-D-6 6 210 285 300 4000 600 % 46 11/16-12UNF 7/8-14UNF
BHP2A0-D-8 8 210 285 300 3500 500 993 | 477 | 11/16-12UNF T/8-14UNF
BHP2A0-D-10 10 210 285 300 3000 500 1026 | 493 | 11/16-12UNF 7/8-14UNF
BHP2A0-D-12 12 210 285 300 3000 500 1059 | 51 11/16-12UNF TI8-14UNF
BHP2A0-D-14 14 250 265 280 4000 500 1093 | 527 | 11/16-12UNF 7/8-14UNF
BHP2A0-D-16 16 250 265 280 4000 500 1127 | 544 | 11/16-12UNF T/8-14UNF
BHP2A0-D-18 18 250 265 280 3600 400 16 | 56 11/16-12UNF 7/8-14UNF
BHP2A0-D-20 20 220 235 250 3200 400 1193 | 57.7 | 11/16-12UNF 7/8-14UNF
BHP2A0-D-22 2 220 235 250 3000 400 1226 | 593 | 11/18-12UNF TI8-14UNF
BHP2A0-D-25 25 200 215 230 3000 400 1276 | 618 | 11/16-12UNF TI8-14UNF
BHP2A0-D-28 28 180 190 200 2500 400 1326 | 643 | 1116-12UNF TI8-14UNF
BHP2A0-D-30 30 160 170 180 2500 400 1359 | 66 | 15M6-12UNF | 7/B-14UNF

38



39

BodenififiiEIE

HIGH PRESSURE GEAR PUMP
BHP2Q0
M6 $B40% 13. M6 thread depth 13.
RERE, n2 M0 BSTHEREHS To mount the pump, n.2 M10 screws,
45..50 Nm. with a torque wrench setting fixed
S M12x1.5 BEAERER 50 N, at 45..50 Nm.
Shaft M12x1.5 nut, with a torque
wrench setting fixed at 50 Nm.
0 0
OUTLET INLET
M 405
% L 275 13
10602 105
wA
£8 - s1e] |
é:?? ﬂ > ~[ i / == z
= i L 2 w ) I \
LE—[HI Mi2x1.5
e 15 D 17 it
. 35 M6 M6 4
“‘F%
AA
ik #8 BXES BERE BiE%E Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2Q0-D-3 3 210 285 300 4000 800 86.6 314 15
BHP2Q0-D-4 4 210 285 300 4000 600 90.2 a4 15
BHP2Q0-D-6 6 210 285 300 4000 600 935 386 15
BHP2Q0-D-8 8 210 285 300 3500 500 96.8 407 15
BHP2Q0-D-10 10 210 285 300 3000 500 1001 4.2 20
BHP2Q0-D-12 12 210 285 300 3000 500 1034 45 20
BHP2Q0-D-14 14 250 265 280 4000 500 106.8 45 20
BHP2Q0-D-16 16 250 265 280 4000 500 110.2 45 20
BHP2Q0-D-18 18 250 265 280 3600 400 1135 45 20
BHP2Q0-D-20 20 220 236 250 3200 400 116.8 45 20
BHP2Q0-D-22 2 220 235 250 3000 400 1201 526 20
BHP2Q0-D-25 25 200 215 230 3000 400 1251 59.3 20
BHP2Q0-D-28 2% 180 190 200 2500 400 130.1 618 2
BHP2Q0-D-30 30 160 170 180 2500 400 1334 835 2




BHP2Q1

BodenigiiiFlE

HIGH PRESSURE GEAR PUMP

M6 84U 13. M6 thread depth 13.
TERRH, n2MI0 BTHERRE A To mount the pump, n.2 M10 screws,
45...50 Nm, with a torque wrench setting fixed
Sl M12x1.5 BEHIEREH 50 Nm. at 45..50 Nm.
Shaft M12x1.5 nut, with a torque
wrench setting fixed at 50 Nm.
0 #l0
QUTLET INLET
86 M 405
%4 60 L 275 13
10.6n.2 10.5
A
S d5e ; [ 95
B ¢ -
8% ﬂ N o d -/ =
Py = I ol 24 = =
[r:] | uwi
= | = PN
| 3 g
| ' g P
I e A ‘
\-E-[ A w Mi2x15
1 D
3s : 7 =15
-0.025
? 35 M6 M6 40
ey
= -1 —
A-A
il #E EXEH BRkE BiftE Rit
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2Q1-D-3 3 270 285 300 4000 800 88.6 374 15
BHP2Q1-D4 4 270 285 300 4000 600 90.2 374 15
BHP2Q1-D6 6 270 285 300 4000 600 95 386 15
BHP2Q1-D-8 8 270 285 300 3500 500 9.8 40.7 15
BHP2Q1-D-10 10 210 285 300 3000 500 100.1 412 20
BHP2Q1-D-12 12 270 285 300 3000 500 1034 45 20
BHP2Q1-D-14 14 250 265 280 4000 500 106.8 45 20
BHP2Q1-D-16 16 250 265 280 4000 500 1102 45 20
BHP2Q11-D-18 18 250 265 280 3600 400 13.5 45 20
BHP2Q1-D-20 20 220 235 250 3200 400 116.8 45 20
BHP2Q1-D-22 2 220 235 250 3000 400 1201 526 20
BHP2Q1-D-25 25 200 215 230 3000 400 1251 593 20
BHP2Q1-D-28 2% 180 190 200 2500 400 130.1 61.8 20
BHP2Q1-D-30 ki) 160 170 180 2500 400 133.4 635 2

40



Bodeni#ifi%E

HIGH PRESSURE GEAR PUMP
BHP202
-. M6 S840 13. M6 thread depth 13.
RERFM, n2 M0 ETHERES To mount the pump, n.2 M10 screws,
45..50 Nm. with a torque wrench setting fixed
BEERAHER 70 Nm. at 45..50 Nm.
Shaft M12x1.5 nut, with a torque

Coupling Max. torque 70 Nm.

im0 Figinl
OUTLET INLET
86 M
80 L
27 830 72
65 10602
50 {f’ ,// L \ ‘EJ o 450
N N~ N o .bb/’ [T
8l B [ q N _% %.5
i Q!

15 D
COUPLING
35 M6 8, 12 M6 40
o 4 8| 1
Atk HE BXEN E 4] BlERE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
: a m
BHP2Q2-D-3 3 210 285 300 4000 800 88.6 374 15
BHP2Q2-D4 4 210 285 300 4000 600 902 74 15
BHP2Q2-D-6 ] 210 285 300 4000 600 935 38.6 15
BHP2Q2-D-8 8 210 285 300 3500 500 96.8 407 15
BHP2Q2-D-10 10 210 285 300 3000 500 100.1 412 2
BHP2Q2-D-12 12 210 285 300 3000 500 1034 45 20
BHP2Q2-D-14 14 250 265 280 4000 500 106.8 45 2
BHP2Q2-D-16 16 250 265 280 4000 500 1102 45 20
BHP2Q2-D-18 18 250 265 280 3600 400 1135 45 2
BHP2Q2-D-20 20 220 235 250 3200 400 1168 45 2
BHP2Q2-D-22 2 220 235 250 3000 400 120.1 526 2
BHP2Q2-D-25 25 200 215 230 3000 400 1254 59.3 20
BHP2Q2-D-28 28 180 190 200 2500 400 1301 618 2
BHP2Q2-D-30 30 160 170 180 2500 400 1334 63.5 2




BHP2A0-R

‘D EOARAMT, AOKE

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

"D" and "d" ports are machined in

4 MHI FHOSAE J1926/1 compliance with threaded port with
(1SO J1926-1), O-ring seal in truncated housing
REZH, nd M0 BETHERE R SAE J1926/1(1S0 J1926-1).
70...75 Nm. To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed
at70..75 Nm.
i i#t#0
OUTLET INLET
130 2 M
1064 24
64 48 125
e T
A, e
: o [ D . ;
= —] Il = =1 . 1= ]
e— | % (_ } | / ?_ SESSeeE
— — [2" i \m_./ / \ = ,g — —— d
| o ] ~
=
3977° d D
2 &
AA
i HE BAES BERE RIERE R
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 M D d
b bar b mn |
BHP2A0-D-3R 3 270 285 300 4000 800 103.1 1116-12UNF |  7/8-14UNF
BHP2A0-D4-R 4 270 285 300 4000 600 1047 1116-12UNF |  7I8-14UNF
BHP2A0-D-6-R 6 270 285 300 4000 600 108 1116-12UNF |  TI8-14UNF
BHP2A0-D-8-R 8 210 285 300 3500 500 113 1 1116-12UNF T/8-14UNF
BHP2A0-D-10-R 10 210 285 300 3000 500 1146 1 116-12UNF TI8-14UNF
BHP2A0-D-12-R 12 210 285 300 3000 500 17.9 1116-12UNF TI8-14UNF
BHP2A0-D-14-R 14 250 265 280 4000 500 1213 1 1116-12UNF T/8-14UNF
BHP2A0-D-16-R 16 250 265 280 4000 500 1247 1 1/116-12UNF T/8-14UNF
BHP2A0-D-18-R 18 250 265 280 3600 400 128 1 116-12UNF T/8-14UNF
BHP2A0-D-20-R 20 220 235 250 3200 400 1313 1116-12UNF T18-14UNF
BHP2A0-D-22-R 2 220 235 250 3000 400 1346 1 1116-12UNF T/8-14UNF
BHP2A0-D-25-R 25 200 215 230 3000 400 1396 11116-12UNF TI8-14UNF
BHP2A0-D-28-R 28 180 190 200 2500 400 1446 1 1116-12UNF T/8-14UNF
BHP2A0-D-30-R 30 160 170 180 2500 400 1479 11116-12UNF 718-14UNF

42



43

BHP2A0-Fx

"D HOARLMT, HOKE
B4 FMEITHSAE J1926/1
(150 J1926-1),

RERRAT, nd M10 BETHRIERRE R

Bodeni&ififEE

HIGH PRESSURE GEAR PUMP

"D" and "d" ports are machined in
compliance with threaded port with
0-ring seal in truncated housing
SAE J1926/1(1SO J1926-1).

70...75 Nm, To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed
at70..75 Nm.
0 iy 1u}
OUTLET INLET
130 M 38
125 1064 N
6.4 L
— [T 1T maam| +
== B\ = &) 3
T 9= ©
(o= B )2
86 d D
DP16/32-30° 11T
bt HE EHEN BHRE Bk BifHE Rt
Type Displacement Control pressure Control flow Max. speed Min. speed Dimensions
Qo : M| LN D d
BHP2A0-D-3-Fx 3 4000 800 1121 | 436 | 924 | 11MB-12UNF |  TI8-14UNF
BHP2A0-D-4-Fx 4 4000 600 1137 | 444 | 937 | 11/16-12UNF TI8-14UNF
BHP2A0-D-6-Fx 6 4000 600 M7 | 46 | 97 | 1116-12UNF | TIB-14UNF
BHP2A0-D-8-Fx 8 3500 500 1203 | 477 | 1003 | 11/16-12UNF TI8-14UNF
BHP2A0-D-10-Fx 10 3000 500 1236 | 493 | 1036 | 11/16-12UNF TI8-14UNF
BHP2A0-D-12-Fx 12 3000 500 1269 | 51 | 1069 | 11/16-12UNF T/8-14UNF
BHP2A0-D-14-Fx 14 100...180 2.30 4000 500 1303 | 527 | 1103 | 11/6-12UNF TI8-14UNF
BHP2A0-D-16-Fx 16 4000 500 1337 | 544 | 1137 | 11/16-12UNF T/8-14UNF
BHP2A0-D-18-Fx 18 3600 400 137 56 17 | 1116-12UNF TI8-14UNF
BHP2A0-D-20-Fx 20 3200 400 1403 | 577 | 1203 | 11/6-12UNF T/8-14UNF
BHP2A0-D-22-Fx 2 3000 400 1436 | 593 | 1236 | 11/16-12UNF TI8-14UNF
BHP2A0-D-25-Fx 25 3000 400 1486 | 618 | 1286 | 11/16-12UNF 7/8-14UNF
BHP2AQ-D-28-Fx 28 2500 400 1536 | 643 |[1336 | 1116-12UNF |  7/8-14UNF
BHP2A0-D-30-Fx 30 2500 400 1569 | 66 | 1369 | 11/16-12UNF 718-14UNF




#6500

BHP2B0-FAXx

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

M6 $403F 13 M18x1.5 B4R 14. M6 thread depth 13,M18x1.5 thread depth 14.
SEFM, n.4 M0 BETHERTH To mount the pump, n.4 M10 screws,
70..75 Nm. with a torque wrench setting fixed
Sh M12x1 2648 1561 2 H50Nm. at70...75 Nm.
Shaft M12x1.25 nut, with a torque
wrench setting fixed at 50 Nm.
Hin g
OUTLET INLET
88 N 4
185 M 75 L 2% 12
5 an4
WA f 5
O): OHe(|
| o - &~ 'j
A —
Q (OE el M12x1.25
[ | N ) |
3,165 0% u I | T \@ D =18
A 51 49 M18x1.5 / M6 40
- AA
i #E EHER EHEE BRRE BiEHE Rt
Type Displacement Control pressure Control flow Max. speed Min. speed Dimensions
_ il _ L N D
BHP2B0-D-3-FAx 3 4000 800 1121 436 96.1 15
BHP2B0-D-4-FAx 4 4000 600 1137 444 977 15
BHP2B0-D-6-FAx 6 4000 600 117 46 101 15
BHP2B0-D-8-FAx 8 3500 500 1203 417 104.3 15
BHP2B0-D-10-FAx 10 3000 500 1236 493 107.6 20
BHP2B0-D-12-FAx 12 3000 500 1269 51 110.9 20
BHP2B0-D-14-FAx 14 100..180 2.30 4000 500 1303 527 1143 20
BHP2B0-D-16-FAx 16 4000 500 1337 544 177 20
BHP2B0-D-18-FAx 18 3600 400 137 56 121 20
BHP2B0-D-20-FAx 20 3200 400 140.3 51.7 1243 20
BHP2B0-D-22-FAx 2 3000 400 1436 59.3 1276 20
BHP2B0-D-25-FAx 25 3000 400 148.6 618 1326 20
BHP2B0-D-28-FAx 28 2500 400 1536 64.3 1376 20
BHP2B0-D-30-FAx 30 2500 400 156.9 66 1409 20

44



45

BAP2B3

HHAAR, pERE
BRAHEEE,
MBSRALR13.

RERM, nd MORSTHERTES

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP

Pump with bearing, This option allows
radial and/or axial loads on the pump shaft.
M6 thread depth 13.

To mount the pump, n.4 M10 screws,

70..75 Nm. with a torque wrench setting fixed
ShiaM14x1 SEEHIERTEH 70 Nm, at70..75 Nm.
Shaft M14x1.5 nut, with a torque
—— = wrenchs efting fixe d ~ at 70 Nm.
|
L T
0 i |
OUTLET INLET
9 45
7
9n4 13
K 192
S ) [
5 450 ¥ [ 95e
o | 7SR £ [
g2 N 7 N /] =
po \ % =
= 7] E 8\ 8 < & ﬁ D) g N -
5 e a
T
@ &1 D i M12x1.5
15 D
4 =15
_-ﬂ 35 M6 M6 40 95
AA
i HE BXEN BEkE RIiEE R+
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2B3-D-3 3 270 285 300 4000 800 1231 79 15
BHP2B3-D-4 4 270 285 300 4000 600 1247 719 15
BHP2B3-D-6 6 270 285 300 4000 600 128.0 731 15
BHP2B3-D-8 8 270 285 300 3500 500 1813 752 15
BHP2B3-D-10 10 270 285 300 3000 500 1346 751 20
BHP2B3-D-12 12 270 285 300 3000 500 137.9 795 20
BHP283-D-14 14 250 265 280 4000 500 1413 795 20
BHP2B3-D-16 16 250 265 280 4000 500 1447 795 20
BHP283-D-18 18 250 265 280 3600 400 148.0 795 20
BHP2B3-D-20 2 20 25 250 3200 400 1513 795 20
BHP2B3-D-22 2 20 2% 250 3000 400 1546 87.1 20
BHP2B3-D-25 25 200 215 230 3000 400 159.6 938 20
BHP?B3-D-28 28 180 190 200 2500 400 164.6 96.3 20
BHP2B3-D-30 30 160 170 180 2500 400 167.9 98.0 20




BHM2B0

MBSZE4LR 13, MBELLR17.

REFH, n4 MOBSTHERTESR

BodenigiiiiFE

HIGH PRESSURE GEAR PUMP

M6 thread depth 13, M8 thread depth 17.
To mount the pump, n.4 M10 screws,

70..75 Nm. with a torque wrench setting fixed
ShEM12x1 258 BHERE A 50 Nm. at70..75 Nm.
Shaft M12x1.25 nut, with a torque
wrenchsetting fixed at 50 Nm.
[ _
am
Lo
M 40 88
L 28 12 715
H 135 Ind 5 H
- i y 1 -
5 5 g @fﬁ A
¢ i ¥
T g T {
= € ) I8 — I = £ D
g - - 7\ = K
O =5 Naa%
M12x1.25 ) ] E_[
D ~ d _ D
=18
G 3.165 9%
B 86 B
Pr= BEBESAERD Pe = max peak input pressure
Po= EESEEEEER Pe=max pressure continually as output counterpressure = Ah
Pi= BREZEHAEND Py = max peak input pressure continually
i #E RAES SR BT R
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHM2B0-R-3-Q1 3 280 270 295 4000 800 91 436 30 13 M6
BHM2B0-R—4-Q1 4 280 270 295 4000 600 97 444 30 13 M6
BHM2B0-R-6-Q1 B 280 270 295 4000 600 96.0 46.0 30 13 M6
BHM2B0-R-8-Q1 8 280 270 295 3500 500 99.3 a7 30 13 M6
BHM2B0-R-10-Q1 10 280 270 295 3000 500 102.6 49.3 40 20 M8
BHM2B0-R-12-01 12 280 270 295 3000 500 1059 51.0 40 20 M8
BHM2B0-R-14-Q1 14 260 250 275 4000 500 109.3 52.7 40 20 M8
BHM2B0-R-16-Q1 16 260 250 275 4000 500 127 544 40 2 M8
BHM2B0-R-18-Q1 18 260 250 275 3600 400 116.0 56.0 40 20 M8
BHM2B0-R-20-Q1 20 230 220 245 3200 400 1193 51.7 40 20 M8
BHM2B0-R-22-01 2 20 220 245 3000 400 1226 59.3 40 20 M8
BHM2B0-R-25-01 25 210 200 225 3000 400 127.6 618 40 2 M8
BHM2B0-R-28-Q1 28 200 190 215 2500 400 1326 64.3 40 2 M8
BHM2B0-R-30-01 30 180 170 195 2500 400 1359 66.0 40 2 M8

46



Bodeni#@iifii&E

HIGH PRESSURE GEAR PUMP
BiZ/FRONT COVER B/SHAFTS
75 135 4 35 2
s;___r e 5 12 % 30 . &l 5
S } i c [ =
s 7 w 2 = — | i
SR e e L=
| O ﬁ_ = P E |~
Q L =18 F
<318 = £ 4 DIN5482 B17X14
B
mAHE SAHE RAHE
Max.Torque 200 Nm Max.Torque 135Nm Max.Torque 150 Nm
70 135 2 4 14
9
- 5 z 25
= b B N
3l s =T = f
= 1\\ = = = & — = ll =]
. J 2 |
t ' " 10
= 6 T 4-15x11.4xd
Bl L (2] Ho G0
RAHE SAHE RAHE
Max.Torque 150 Nm Max.Torque 185Nm Max.Torque 100 Nem
7 125 3 3%
9 - 72 13 g 2
A D '_‘I o3 _7[
3‘17 {2 I- § I 2| w
S_ b 5 2 T = &
17 ol
O——o =15 &=
=3 = & 6 DINS482 BI7X14
O
mAHE sAfsE mAHE
Max.Torque 160 Nm Max.Torque 150Nm Max.Torque 150 Nm
60 405 14
21 106 72 13 ] r. zi? -
=3 = =S Yy -
% YT 8 2w T = | i
¥ | | =]
e o, b Ll E L U ;
! e = = "
=15 & e 10
<J 3 DIN5482 B17X14
G0
BAHE SAHE RAHE
Max.Torque 160 Nm Max.Torque 100 N Max.Torque 150Nm

47



BAP2(BHP2)

Bodeni§ i &

HIGH PRESSURE GEAR PUMP

BI/FRONT COVER E{/SHAFTS
60 405 14
— %
2 106 72 0 13 g .E. ET a
— A |_ 8 B - = I I
N2 = ; n=_|
¢ 9 S el S H -
=15 & ' ..i
<7 3 = DIN5482 B17X14
Qf GO0
SAHE RAHE RAHE
Max. Torque 180Nm Max.Torque 100 Nm Max.Torque 150 Nem
60
:-:l 106 o 12
i . By
THK R
<
@ © 65 T‘ 27
Gl
BAAE
Max.Torque 100 Nm
1064 64 2 » R
= e
125 - i o H —]I 5
L i o =2 E- gl = S
= SHEE- (s - S
- & 397 E 478 < 5
A
BAHE RAHE SAHE
Max.Torque 140Nm Max.Torque 160 Nem Max.Torque 160 Nm
—2 e 5
-2 B }:
1 e |
i | | ==
! -2 = ]
H - = P 2
DP16/32-30° -9T DP16/32-30° ~11T DP16/32-30° 10T
S I )
BAHE RAHE SAHE
Max.Torque 185Nm Max.Torque 200 N Max.Torque 190




Bodeni#@iifii&E

HIGH PRESSURE GEAR PUMP

BAP2(BHP2)

il /PORTS
Fa
/“ -
A 9 WoRke 0 g0
= Q-Jr : TYPE PORTS CODE INLET OUTLET
. 7
b
! g BA(H)P2..3 + BA(H)P2..8 E0 0 | 1B | v | 0 | 13 | M
n4Cle) / BA(H)P2..10 + BAMH)P2..2 Ef 0 | 20 [ v | 2 | 13 | w
EO/E1/E2 BA(H)P2..25 + BA(H)P2..30 E2 40 2 M8 20 13 M6

™y

AN W 9 i 0
- TYPE INLET QUTLET

Ala)
pd
+
]

b
- BA(H)P2..3 + BA(H)P2..8 B | 4 | M | 3B | 10 | M
n40lc) BA(H)P2..10 = BAH)P2..22 B | 18 | M | % | 15 | M8
BA(H)P2..25 + BAMH)P2..30 B | 20 | M | B | 15 | M
.
TN it 40 0
= -9-@- TYPE INLET OUTLET
e
= BAHJP2..8: BAMH)P2..10 0 | 13| m | o | 13 | m
n4Clo BA(H)P2..12 = BA(H)P2..20 o | 19 | M| o | 13 | m
Ed BA(HP2..22:: BA(H)P2..28 w | 19 | M| o [ 19 | m
BAH)P2..%0 0 | 20 | w | 0 [ 18 [ m
o
=db ot HORS 40 Hi4m
| X\ TYPE PORTS CODE INLET OUTLET
‘9:\ A B C a ] (¥
‘ BA(H)P2..3 = BAH)P2..8 Fo 40 15 Mg s | 1 M6
n4 () BA(HIP2..10  BA(H)P2..30 Fi 4 2 M6 B | 15 M6
FOIF1/F5 BAH)P2...16 2 BAIH)P2..30 5 55 % M8 55 | 18 M8

49



Bodeni#iifii&E

HIGH PRESSURE GEAR PUMP
B O/PORTS
; o ’ &
| \ 4 #ORS 40 i
s s n4C(o) TYPE PORTS CODE INLET OUTLET
o C a b ¢ d
VBL BA(H)P2..3 + BAMHP2..16 Fo |81 [1748 | 516-18UNC | 13 [ 381 [1748 | 5/16-18UNC | 13
0 BA(H)P2..18 + BAHP2..20 F3 4763 223 | 3B-16UNC | 20 |381 [17.48 | 516-1BUNC | 13
F2IF3JF4 BA(H)P2..22 = BA(H)P2..30 R e o2s | 3e-teunc | 20 Janes [22s | 3e-teunc |20
ik #ORS #ihA 40
TYPE PORTS CODE INLET OUTLET
: T [ [ ) F T
BAIK)P2..3: BA(HP2..6 L0 G2 G2
BA(H)P2...8 + BA(H}P2...30 L1 G/ G2
BA(HIP2..16+ BAIHIP2..30 13 Gf Gals
LOL1L31L4 BAIH)P2..8 : BA)P2..30 L4 a3l G4
ﬁ@ 4 uoks #40 i
= TYPE PORTS CODE INLET OUTLET
BAIHIP2..3 + BAM)P2..12 RO PTi2 PTI2
BAIHIP2..14 : BAIHJP2..25 R T4 PTH2
RO/R1/R2 BA(H)P2..28 + BAH)P2..30 R2 PT1 PT34
i wARS i##0 iR
TYPE PORTS CODE INLET OUTLET

Uo/U1u2/U3

BA(H)P2...3 - BA(H)P2...28 uo 11116-12 UNF 7/8-14 UNF
BA(H)P2...30 ut 15/16-12 UNF 7/8-14 UNF
BA(H)P2..3 + BA(H)P2...28 U2 71814 UNF 3/4-16 UNF
BA(H)P2..8 + BA(H|P2..30 us 15/16-12 UNF 11/16-12 UNF

50



51

Bodeni#iRix &

HIGH PRESSURE GEAR PUMP
BAP2.5[BHP2.5]
f0fmiT®/ HOW TO ORDER
BA H p H 25 | LIE-SE 43| | oA || W& || WO || ROME || mH || WEA
v Front cover Rotation Size Shatt Ports Ports position Seals Options
| | I | | |
NS P- ERE a3l A0 D Gkt 10
Series Pump Group Clockwise 125
BA-§, R Al RS L
HEhEESE S | Counter 16
Bﬂ-dem and clockwise 18
end cover
materil R Hﬁﬁ,ﬁ 19
aluminum eversible 20
BH-fI, REHHE 23
HE% EN L BA" 25
#IE 30bar, %5
BH-Front and .
end cover material 2
cast iron, 30
pressure than %
"BA"series high %
30 bar.
40
45
BALE Ports position
BRI Omit-Side inlet and side outlet
A A-Front inlet and front outlet
Bttt B-Back inlet and front outlet
C-Eft M C-Back inlet and side outlet
D-iit D-Side inlet and front outlet
R-GifEH R-Back inlet and back outlet
jE) Seals
HR-EEEEA-10C-+80T El AR BARE N H3bar, Omit-Range between ~10°C and +80'C,inlet pressure up to max. 3 bar absolute.
V-EBRTRENR, BEEEE-10C-+120C, V-Version suitable for fluid at hi-temperatures, range between ~107C and +120TC.
H-ERTFEENR, REEE%-40T-+80C, H-Version suitable for flid at low-temperatures, range betwsen ~40'C and +80°TC.
T-iE B Fiftih DR A M3 E /13~6bar, T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-i& F Fittih O A 30 B 713~ 100ar, N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.
0/ Examples:

BAP25-A0-D-10-CO-Z0=  JGiRYEHEE, HER 10 colrev, AQ BT, CO EIRESM, Z0 REMO, Wks

clockwise rotation, 10 cc/rev, AQ front cover, GO parallel shaft, sefting ports Z0 type, standard seals
BHP2.5-A1-D-10-C1-FO=  IGRI§HSE, #& 10 cohev, A1 HiE, C1 HEhfH, FOREMN, e

clockwise rotation, 10 cc/rev, A1 front cover, C1 parallel shaft, sefting ports FO type, standard seals
BHP2.5-A2-D-10-S3-U0-N= JfifF§tE, HEE 10 cofrev, A2 B2, S3SAE B 13i%MH, U0 REMO BEREN)

clockwise rotation, 10 cc/rev, A2 front cover, SAE B splined 13T shaft(S3), setting ports U0 type, high pressure seals(N)



BodenigiiiiFlE

HIGH PRESSURE GEAR PUMP
BAP2.5A0
M18x1.5 4% 15, M18x1.5 thread depth 15,
M22x1.5 B4[R 16, M22x1.5 thread depth 16,
M27x2 BBLLR 19, M27x2 thread depth 19,
- M33x2 BB4LER 20, M33x2 thread depth 20,
V) RERM, nd M2 BSTHERTEH To mount the pump, n.4 M12 screws,
] U2 75...80 Nm. with a torque wrench setting fixed
3 at 75..80 Nm.
kA #mn
OUTLET INLET
154 M 45
65 130 L
= 125
1 - me
oL g il / \ E 0 2
= £ :
5 =l - = - 5 =
: M| 3 % : || 1 (O |F
B par L
A = | 82
3 =
=0 % g
O ] _'[_ ] ]
6
d 92 D
8 &
Hitt #E BAES hERE RiEiE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 M L | Db | d
BAP25A0-D-10 10 250 210 290 4000 800 10 533 M22x15 | Mi8x15
BAP2.5A0-D-12.5 125 250 210 290 4000 800 113 548 M22x15 | Mi8x15
BAP2.5A0-D-14 14 250 210 290 4000 700 115 558 M22x15 | M18x15
BAP2.5A0-D-16 16 250 210 20 3500 700 118 57.1 M2Tx2 | M22x15
BAP25A0-D-18 18 250 210 290 3500 600 120 56.3 M27x2 | M22x15
BAP2.5A0-D-19 19 250 210 20 3500 600 121 56.8 M2Tx2 | M22x15
BAP2.5A0-D-20 2 250 210 290 3000 500 123 596 M2Tx2 | M22x15
BAP2.5A0-D-23 23 230 250 260 3500 500 126 61.3 MIB2 | M2rxe
BAP2.5A0-D-25 25 230 250 260 3500 500 129 626 M3dx2 M27x2
BAP2.5A0-D-26.5 265 230 250 260 3500 500 131 636 MIB2 | M2
BAP2.5A0-D-28 28 230 250 260 3500 500 183 64.6 M33x2 M27x2
BAP2.5A0-D-30 30 230 250 260 3000 400 138 856 M33ax2 M272
BAP2.5A0-D-32 32 200 230 250 3000 400 138 67.1 M33x2 M27x2
BAP2.5A0-D-36 36 200 230 250 2750 400 142 69.1 M3n2 | M2
BAP2.5A0-D40 40 160 180 200 2500 400 148 716 M33x2 M27x2
BAP2.5A0-D-45 45 160 180 200 2500 400 153 746 M33x2 M27x2

52



53

BodenifiiiEE

HIGH PRESSURE GEAR PUMP
BAP2.5A1(BHP2.5A1]
M10x1.25 B4R 15. M10x1.25 thread depth 15.
v
Screws tightening torgue Nm
75..80
130..135
] #im0
OUTLET INLET
130 M 32
6.5 106.4 L
M10x1.25 v M10x1.25 125
- g —
- ]
-3 : |
g GAre ol 1t - . ~ @ TH
rl- |9 i =1 oM @ | L i
- e
7 {
=,
478 d D
a 90 A
z b
bt HE BAES BEkE RifRE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 M|{L|A|B|[D[a]|b]|d
- b ) oMM mm o mmmm o o
BAP2.5A1-D-10 10 250 270 290 4000 800 110 |533 | 476 (222 | 20 |476 |222 | 13
BAP2.5A1-D-12.5 125 250 270 290 4000 800 113 | 548 | 476 (222 | 20 |476 |222 | 13
BAP2.5A1-D-14 14 250 210 290 4000 700 115 |558 | 476 (222 | 20 |476 |222 | 13
BAP2.5A1-D-16 16 250 270 290 3500 700 118 | 57.1 | 476 |222 | 20 |476 |222 | 13
BAP2.5A1-D-18 18 250 270 290 3500 600 120 [ 58.3 (524 (262 | 25 |476 |222 | 20
BAP2.5A1-D-19 19 250 270 29 3500 600 121 | 588 | 524 |262 | 25 |476 |222 | 20
BAP25A1-D-20 20 250 210 290 3000 500 123 | 596 (524 (262 | 25 |476 |222 | 20
BAP2.5A1-D-23 23 230 250 260 3500 500 126 | 613 (524 (262 | 25 |476 [222 | 20
BAP2.5A1-D-25 25 230 250 260 3500 500 129 | 626 [524 (262 | 25 |476 [222 | 20
BAP2.5A1-D-26.5 265 230 250 260 3500 500 131 | 636 | 524 (262 | 25 |476 |222 | 2
BAP2.5A1-D-28 28 230 250 260 3500 500 133 | 646 (524 (262 | 25 |476 [222 | 20
BAP2.5A1-D-30 30 230 250 260 3000 400 135 | 656 | 524 |262 | 25 |476 |222 | 20
BAP2.5A1-D-32 2 200 230 250 3000 400 138 | 671|524 |262 | 25 |476 |222 | 20
BAP2.5A1-D-36 36 200 230 250 2150 400 142 | 691|524 |262 | 25 |476 (222 | 20
BAP2.5A1-D-40 40 160 180 200 2500 400 148 | 716 | 524 |262 | 25 |476 |222 | 20
BAP2.5A1-D45 45 160 180 200 2500 400 153 | 746 | 524 |262 | 25 |476 |222 | 20




BodenigiiiixE

HIGH PRESSURE GEAR PUMP
BAP2.5[BHP2.5]
BiZ/FRONT COVER S{/SHAFTS
130 125 45 45
65 28 [: 28
He i {%
t J i
LJ = o }_,' -
& § L 6-20¢16
(0 L H
RAHE sAHE
Max. Torque 200 Nm Max.Torque 240 Nem
45 2 45
| 28 2 5
: 3 & | 8| & | g
= =P L 4-1815K5
M (2
SAHE SAAE BAHE
Max.Torque 160 Nm Max.Torque 130 Nm Max.Torque 200Nm
45 39 39
n 25 n 23 . mo2 e
§ 1 3 { 5
I 6-20x16x4 EXT12Z-1.5m-30° DP16/32-30° ~10T
T 51
RAHE RAHE RAHE
Max.Torque R4 N Max.Torque 20 Max.Torque 2o
34 82
L 2 1,29
i -
DP16/32-30° 11 DP16/32-30° ~13T
83
RAHE BAHsE
MaxTorue 210NN MaxToue 200N

54



Bodeni#@iifii&E

HIGH PRESSURE GEAR PUMP

BAP2.5[BHP2.5]

il O/PORTS
Ala)
¥ any
L
& g stk HORS 0 0
: @ TYPE PORTS CODE INLET OUTLET
040 D(d) A B B Dl & b ¢ d
BA(H)P25..10 + BAHJP25..16 O |476 |22 | Mioxi2s |20 |a76 |22 | mioxizs |13
FO/F1 BA(HJP25..18 + BA(H)P25..45 i |04 [262 | mioxzs |25 [a76 [222 | moxizs |20
ST
\&/. )
g 5 & i 0 w3k
_ TYPE INLET QUTLET

n.4 C(c
BA(H)P25..10 + BA(H)P25...16 55 20 M8 55 13 M8

swpzs.to:sapes s | s | & [ w | w | @ |

9 bl HORS i 18] 0

g TYPE PORTS CODE INLET OUTLET
BA(H)P25..10 + BA(H)P25...14 0 M22x1.5 M18x1 5
BA(HJP25..16 + BA(H)P25..20 b4l M27x2 M22x1 5

2021122 BA(H)P25..23 + BA(H)P2.5..45 2 M33x2 M2

Alg)

i BORS i8] HilA
. TYPE PORTS CODE INLET OUTLET

BA(H)P25..10 + BA(H)P25..23 uo 1116-12 UNF 7/8-14 UNF

Uout BA(H)P25..25 + BA(H)P25..45 ut 15/16-12 UNF 1116-12UNF

55



Bodeni#iifii&E

HIGH PRESSURE GEAR PUMP
BAP2.5[BHP2.5]
il A/PORTS
g @L it HORS k0 it
3 TYPE PORTS CODE INLET OUTLET
BA(H)P2.5..10 + BA(H)P25...23 L0 G3/4 Gif2
WAP2S 5 BANPRSS | U 61 e
g i HORE e 0
TYPE PORTS CODE INLET OUTLET
BA(H)P25..10 + BA(H)P25...23 RO PT3/4 PT1/2
RO/R1 BA(H)P2.5..25 + BA(H)P25..45 Rt PT1 PT34

56



57

BHP2.6

fnfi3TH/ HOW TO ORDER

Bodeni# iRz &

HIGH PRESSURE GEAR PUMP

BA | P H 26 H fiiE il g B || #0 | EALE h Bp:iAi
' Front cover Rotation Size Shatt Ports Ports position Seals Options
T I | I T I
Bie P- 8RR a5 8 e 5% 6
Series Pump Group Clockwise 8
BA-7, fF& Al R 10
HEAREE Counter 1
BA-Front and clockwise 14
end cover A2 AERE "
material Reversib
aluminum eversible m
BH- #1, EEHH 2
HEE EALBA 5
Z55 30bar , %
BH-Front and
end cover material 30
cast iron, 32
pressure than %
"BA"series high =
30 bar.
o 40
44
mOofuE Ports position
RN Omit-Side inlet and side outlet
A-RURATY A-Front inlet and front outlet
B-RiftAIH B-Back inlet and front outlet
C-Fift C-Back inlet and side outlet
D-flif A D-Side inlet and front outlet
R-RiftEH R-Back inlet and back outlet

bt

S

eals

- B EBEE-10C~+80'C R AR E MHE /1 5 3bar,
V-ERTERNE, BEEEE-10T-+120T,
H-BRATREMR, BEEEE40C-480T,
T-iE ATt DS A LRI EH3-6bar,
N-ZB Fifi O A F 13~ 10bar,

3afl/ Examples:

Omit-Range between -10'C and +80 C,inlet pressure up to max. 3 bar absolute.
V-Version suitable for fluid at hi-temperatures, range between -10C and +120°T.
H-Version suitable for fluid at low-temperatures, range between —40°C and +80T.

T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

BHP2.6-B0-D-10-T0-E1=

BHP2.6-A1-D-10-C1-F0 =

BHP2 6-A2-D-10-83-U0-N=

IS, HEE10 corey, BOBTE, TO1:8 HEHMME, E1RIEAN, FEihs

clockwise rotation, 10 ce/rev, BO front cover,1:8 tapered shaft(T0), setting ports E1 type, standard seals

IASEtss, HEB10corev, ATRIE, CEASEH, FOREMO, ks

clockwise rotation, 10 ccirev, A front cover, C1 parallel shaft, setting ports FO type, standard seals

JRRETSE, FEE10 colrey, A281E, S3SAE B 134, V0RO SEREN)
clockwise rotation, 10 cc/rev, A2 front cover, SAE B splined 13T

shaft{ S3), setting ports U0 type, high pressure seals(N)



BAP2.6B0

REZM, nd M2ESTHERTES
130...135Nm.
AN 14x1 SEREHEEIREH 75 Nm.,

Bodeni§iiniFE

HIGH PRESSURE GEAR PUMP

To mount the pump, n.4 M10 screws,
with a torque wrench setting fixed

at 130...135 Nm.
Shaft M14x1.5 nut with a torque
wrench setting fixed at 75 Nm.

A #ilA
OUTLET INLET
120 M 47
98 L 33 14
1nd 135
N : i
./7\ & g
YA
| o IO o || 4%
| k3
O\_/O Midx1 5
s —4 d \5\_ © B 18
2 b
] AA
% #E BRE BEHE BERE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 Clb[d]e
BHP2.6B0-D-6 6 250 280 300 4000 800 103 1493 | 30 | 13 | M6 | 30 | 13 | M6
BHP2.6B0-D-8 8 250 280 300 4000 800 105 |503 | 30 | 13 [ M6 | 30 [ 13 | M6
BHP2.6B0-D-10 10 250 280 300 4000 700 107 (513 [ 40 [ 20 | M8 | 30 | 13 | M6
BHP2.6B0-D-12 12 250 280 300 3500 700 110 | 525 | 40 | 20 [ M8 | 30 [ 13 | M6
BHP2.6B0-D-14 14 250 280 300 3500 600 111 (533 [ 40 | 20 | M8 | 30 | 13 | M6
BHP2.6B0-D-16 16 250 280 300 3500 600 114 (545 40 [ 20 | M8 | 30 | 18 | M6
BHP2.680-D-19 19 250 280 300 3000 500 117 | 563 | 40 | 20 [ M8 | 30 [ 13 | M6
BHP2.6B0-D-22 22 250 280 300 3000 500 121 [580 [ 51 | 25 | M10| 40 | 18 | M8
BHP2 6B0-D-25 25 250 280 300 3000 500 123 |593 | 51 | 25 |MIO| 40 | 18 | M8
BHP2.6B0-D-28 28 250 280 300 3000 500 126 1608 | 51 | 25 |AMM0| 40 | 18 | M8
BHP2.6B0-D-30 30 230 250 260 3000 500 129 1620 | 51 | 25 |10 | 40 | 18 | M8
BHP2.6B0-D-32 32 230 250 260 3000 400 131 1633 | 51 | 25 |M10| 40 | 18 | M8
BHP2.6B0-D-36 36 200 230 250 2750 400 135 | 653 | 51 | 25 [M10 | 40 [ 18 | M8
BHP2.6B0-D-38 38 200 230 250 2750 400 137 1663 | 51 | 25 |M10| 40 | 18 | M8
BHP2.680-D-40 40 170 190 210 2500 400 139 |673 | 51 | 25 |M10O | 40 | 18 | MB
BHP2.6B0-D-44 44 170 190 210 2500 400 144 [695 | 51 | 25 | M10)| 40 | 18 | M8

58



59

BHP2.6A1

G 1 840% 19,
G 3/4 B4R 16,
G 1/2 BALR 15,

RERM, nd M2 BTRERE S

130...135 Nm.

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP

G 1 thread depth 19,
G 3/4 thread depth 16,
G 1/2 thread depth 15,

To mount the pump, n.4 M12 screws,
with a torque wrench setting fixed
at 130...135 Nm.

Hiwn i#iA
OUTLET INLET
130 M 32
6.2 106.4 L
135
( N
N - ||
: SRR . ||| @0
Y = NV ) =
- o\ O L =
d 10'3 D

At #HE TAEN SEEE it R

Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2.6A1-D-6 6 250 280 300 4000 103 | 493 G 34 G112
BHP2.6A1-D-8 8 250 280 300 4000 800 105 | 503 G3l4 G1i2
BHP2.6A1-D-10 10 250 280 300 4000 700 107 | 513 Gl G112
BHP2.6A1-D-12 12 250 280 300 3500 700 110 | 525 G344 G12
BHP2.6A1-D-14 14 250 280 300 3500 600 11 | 533 G4 G112
BHP2.6A1-D-16 16 250 280 300 3500 600 114 545 G344 G2
BHP2.6A1-D-19 19 250 280 300 3000 500 17 | 563 G4 G12
BHP2.6A1-D-22 2 250 280 300 3000 500 121 | 580 G34 G12
BHP2.6A1-D-25 2 250 280 300 3000 500 123 | 593 G1 G 34
BHP2.6A1-D-28 28 250 280 300 3000 500 126 60.8 G1 G 34
BHP2.6A1-D-30 30 230 250 260 3000 500 129 | 620 Gi Ga4
BHP2.6A1-D-32 32 230 250 260 3000 400 131 63.3 G1 G344
BHP2.6A1-D-36 36 200 230 250 2750 400 136 | 653 Gi G a4
BHP2.6A1-D-38 38 200 230 250 2750 400 137 | 663 G1 G4
BHP2.6A1-0-40 40 170 190 210 2500 400 139 | 673 Gi G a4
BHP2.6A1-D-44 44 170 190 210 2500 400 144 | 695 G1 G34




BHP2.6A2

‘DHAHAFRAMT, FOKE

ZH EMAIFASAE J1926/1
(IS0 J1926-1),

RERM, nd M2BSTHEREAS

Bodeni§iiniFE

HIGH PRESSURE GEAR PUMP

‘D" and "d" ports are machined in

compliance with threaded port with
O-ring seal in truncated housing

SAE J1926/1(1SO J1926-1).

130...135 Nm, To mount the pump, n.4 M12 screws,
with a torque wrench setting fixed
at130...135 Nm.
@A #an
OUTLET INLET
174 M 4
146 I
95 143n.2 135
- /\ . 24
e 1 fany A
gl 1 % (N M v .
N/ \b = -
] L | 2
d 108 | D
DP16/32-30° 13T
L i3 BAER g5 oyt Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2_| P3 _ L D d
BHP2.6A2-D-6 6 250 280 300 4000 800 103 | 49.3 |1 116-12UNF | 7/B~14UNF
BHP2.6A2-D-8 8 250 280 300 4000 800 105 | 503 |1 1/16-12UNF | 7/8-14UNF
BHP2.642-D-10 10 250 280 300 4000 700 107 | 513 |1 146-12UNF | 7/B-14UNF
BHP2.6A2-D-12 12 250 280 300 3500 700 10 | 525 |11/6-12UNF | 7/8-14UNF
BHP2.642-D-14 14 250 280 300 3500 600 111 | 533 [11A46-12UNF | 7/8-14UNF
BHP2.6A2-D-16 16 250 280 300 3500 600 14 | 545 [1146-12UNF | 7/8-14UNF
BHP2.642-D-19 19 250 280 300 3000 500 117 | 563 |1 1/16-12UNF | 7/8-14UNF
BHP2.6A2-D-22 2 250 280 300 3000 500 121 | 580 [11/16-12UNF | 7/8-14UNF
BHP2.642-D-25 % 250 280 300 3000 500 123 | 593 [1616-12UNF |1 1/16-12UNF
BHP2.6A2-D-28 2 250 280 300 3000 500 126 | 608 |1516-12UNF 1 1/46-12UNF
BHP2.642-D-30 30 230 250 260 3000 500 129 | 620 [1516-12UNF |1 1/16-12UNF
BHP2.6A2-D-32 32 230 250 260 3000 400 131 | 633 [15/46-12UNF |1 1/16-12UNF
BHP2.642-D-36 3 200 230 250 2750 400 135 | 653 [1516-12UNF 1 1/16-12UNF
BHP2.6A2-D-38 38 200 230 250 2750 400 187 | 663 |f5A6-12UNF |1 1/16-12UNF
BHP2.642-D-40 40 170 190 210 2500 400 133 | 673 [1516-12UNF 1 1/16-12UNF
BHP2.6A2-D-44 4 170 190 210 2500 400 144 | 695 |1516-12UNF 1 1/16-12UNF

60



61

BHP2.6A2-R

'DHCHOERAMI, ROKE
T# S0HITHSAE J1926/1
(SO J1926-1),

REFRT, n.d MIBSTHIERE H

Bodeni#iiixE

HIGH PRESSURE GEAR PUMP

"D"and "d" ports are machined in
compliance with threaded port with
O-ring seal in truncated housing

SAE J1926/1(1SO J1926-1).

130...135 Nm. To mount the pump, n.4 M12 screws,
with a torque wrench setting fixed
at130..135 Nm.
0 i
OUTLET INLET
174 41 M
146 135
95 25 30 24
— [
o / . \ g i
_ A AT N T = ﬁ%
o = 1 2 NI 1> QR I\ =4
il = o (N N R N
_ RN ARV /g I )
iy 8 _E
L/
DP16/32-30° ~13T ’ °
it HE EXEN EEHE iR R
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP2.642-D-6-R 6 250 280 300 4000 800 118 I1H6-12UNF | TB-14UNF
BHP2.6A2-D-8 -R 8 250 280 300 4000 800 120 11/16-12UNF TI8-14UNF
BHP2.6A2-D-10 -R 10 250 280 300 4000 700 122 11/16-12UNF 7/8-14UNF
BHP26A2-D-12 -R 12 250 280 300 3500 700 125 11/16-12UNF 7/8-14UNF
BHP26A2-D-14 -R 14 250 280 300 3500 600 126 11/16-12UNF 7/8-14UNF
BHP26A2-D-16 -R 16 250 280 300 3500 600 129 11/16-12UNF 7/8-14UNF
BHP2.6A2-D-19 -R 19 250 280 300 3000 500 132 1116-12UNF 718-14UNF
BHP26A2-D-22 -R 2 250 280 300 3000 500 136 1116-12UNF 7/8-14UNF
BHP2.6A2-D-25 -R P 250 280 300 3000 500 138 11/16-12UNF 7/8-14UNF
BHP2:6A2-D-28 -R 28 250 280 300 3000 500 141 11/16-12UNF 7/8-14UNF
BHP2.642-D-30 -R 30 230 250 260 3000 500 144 1116-12UNF 7/8-14UNF
BHP2:6A2-D-32 -R 2 230 250 260 3000 400 146 11/16-12UNF T/8-14UNF
BHP2.6A2-D-36 -R 3 200 230 250 2750 400 150 11/16-12UNF T/8-14UNF
BHP26A2-D-38 -R 3 200 230 250 2750 400 152 11/16-12UNF 7/8-14UNF
BHP2.6A2-D-40 -R 4 170 190 210 2500 400 154 11/16-12UNF T/8-14UNF
BHP26A2-D-44 -R 4 170 190 210 2500 400 159 11/16-12UNF 7/8-14UNF




Bodeni§iiniFE

HIGH PRESSURE GEAR PUMP
BHP2.6
AijZ/FRONT COVER ifi/SHAFTS
47
14
I
[
r w| 2| o
5 =
18 =
<7 4
RAAE
Max.Torque 300 Nem
415 R 415
2 2 25
|
M | M
, | .
B | X
| 2 o 1 8 = | o
oo =l 8 boog s oS
= = L 41841545
Al L H]
SAHE SAHE SAHE
Max.Torque 180 bim Max.Torque 120 b Max.Torque 200 Nen
415 39 39
25 B B
I | |
S A
| _ : | i : | =
g - .
L 6-20x16x4 EXT12Z-1.5m-30° DP16/32-30° ~10T
0] 8]
RAAE RAHAE SAAE
Max.Torque 20N Max.Torque 220 N Max.Torque 200 Nen
34 2
23 E 2
N
H
y | ]
o8 c
=, =
DP16/32-30° ~11T DP16/32-30° ~13T
9] L S3]
RAHE RAHE
Max.Torque 210Nm Max.Torque o

62



63

BodeniHilii#[x

HIGH PRESSURE GEAR PUMP
BHP2.6
FZ/FRONT COVER B {H/SHAFTS
5 4 _ 4
g o]
| = |
| | |
: = |
= A N o 2
H N
DP16/32-30° ~13T 635
Q]
SAHE wAHE
Max. Torque 400 Nm Max.Torque 350 Nm




Bodeni#iiiiiEE

HIGH PRESSURE GEAR PUMP
BHP2.6
il O/PORTS
m
TN s wnke 0 i
= it TYPE PORTS CODE INLET OUTLET
/ = BHP26..6+ BHP26..8 EO 30 13 M6 30 13 M6
n4Ce) BHP26...10+ BHP26..19 El 40 20 M8 30 13 M6
EO/E1/E2 BHP256..22 + BHP26..44 E2 59 2% | mo | 40 18 8
_ Aa)
b\
¥ A ° ,
@ \_’/ At BARS #ih0 HilA
. R TYPE PORTS CODE INLET OQUTLET
n4C(0) D(d) A B C D|la b c d
BHP25..6+ BHP26..16 Fo [476 |22 | mioxi5 |20 |476 [222 | mioxis |13
FOIF1 BHP256...19.+ BHP26..44 Ft 524 |262 | mioxd5 |25 [476 |222 | Mixt5 |20
85 d5e
2|2 s 0 40
X _ TYPE INLET OUTLET
040 A B c a b c
BHP256..6+ BHP26..16 55 20 M8 55 13 8
R R T I N N R
N ] HORS 80 i
) TYPE PORTS CODE INLET OUTLET
BHP256..6+ BHP26..14 i) M22x1.5 M18x1.5
BHP2.6...16 + BHP26...19 Fal M2 M22x1 5
20121122 BHP256..22 + BHP26..44 2] M33x2 M7x2

64



Bodeni§ini&E&

HIGH PRESSURE GEAR PUMP
BHP2.6
il O/PORTS

i woke a0 Hikn

TYPE PORTS CODE INLET QUTLET

BHP2.6..6+BHP26..22 Uo 11116-12 UNF 7/8-14 UNF

BHP2.6...25 - BHP26...44 Ut 15/16-12 UNF 11/16-12 UNF
< 5 wake 0 i

R TYPE PORTS CODE INLET QUTLET

BHP2.6..6< BHP26..22 Lo 634 Gil2
BHP26..2¢ BHP26. 4 L of a4
= itk HORS #ih0 Hilin
] TYPE PORTS CODE INLET OUTLET

BHP26..10 - BHP26..22 RO PT34 PT12
ROR BHP2.6..25 : BHP26. 44 R P PT3/4

65



Bodeni§iiiiFE

HIGH PRESSURE GEAR PUMP
BDP2.5
fnfd3iT HOW TO ORDER
8D L p H a5 L HE | i) | M || WM || Bo || WMOAE || A# || TER
' Front cover Rotation Size Shaft Ports Ports position Seals Options
I | | | I |
E3 I P- 8% a9 a0 D JRET§E 2
Series Pump Group Clockwise 2
RS 265
S| Counter 28
p| FERR [
Reversible %
40
MOfE Ports position
ER-R N Omit-Side inlet and side outiet
ATt A-Frontinlet and front outlet
B- AT B-Back inlet and front outlet
C-RtfH C-Back inlet and side outlet
DA D-Side inlet and front outlet
R-RitH R-Back inlet and back outlet
it Seals
HR-REEEA-10C-+80C b AR B AT E N H3bar, Omit-Range between —10°C and +80'C,jinlet pressure up to max, 3 bar absoluts,
V-ERTRENR, RESEE-10T-H2T, V-Version suitable for fluid at hi-temperatures, range between ~10TC and +120°C.
H-ERTFERNME, REEEE-40T+80C, H-Version suitable for fluid at low-temperatures, range between -40°C and +80°C.
T-ERFith QR Kk EHEH3~6bar, T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-i& B F it AR A 4nt 13~10bar, N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.
Jefl/ Examples:

BDP2.5-A0-D-23-C0-Z0-R=  NRY§Hé%, H: 23 colrev, AOHTE, CO EEESfH, Z0 RO, MOAER, HEls

clockwise rotation, 23 ccirev, AO front cover, CO parallel shaft, setting ports Z0 type, Ports position (R),standard seals
BDP25-A0-D-23-H1-L0-R=  IRFISIEE, #E 23cohev, AOBIE, HYSERERMM, LOREMDO, MOLE R kihH

clockwise rotation, 23 ccirev, AQ front cover, H1 rectangle splined shaft, setting ports L0 type, Ports position (R),standard seals
BDP2.5-A0-D-23-83-F0-N=  JEEf$t4E, HHE 23 cofrev, A B, S3SAEB 1M, FO RN BERHN)

clockwise rotation, 23 ccfrev, A0 front cover, SAE B splined 13T shaft(S3), setting ports FO type, high pressure seals(N)



67

BDP2.5A0-R

G 18R 21,
G 1/2 BALR 16,

TRRAT, nd M12 BSTHERTE S

Bodeni#ilfii&E

HIGH PRESSURE GEAR PUMP

G 1 thread depth 21,
G 1/2 thread depth 16,
To mount the pump, n.4 M12 screws,

75...80 Nm. with a torque wrench setting fixed
at 75...80 Nm.
il i [
OUTLET INLET
130
M 45
1064 65 %5 3
125
. Ay
/ \ R | N
-y 1 C o q——
é ] : g| ~ ©
== — o5
- TN < - i# | g
‘.,'E_ g g \ i / \ - T
= L o !
O o, = 1 ©r ==
[ ] -
d D
AA
430
g2l opn
g tQ 71
#16
i #E RAEN BRRE RiEEE R+
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 M D d
| bbb
BDP2.5A0-D-23-R 3 230 250 260 3500 600 118 G1 G2
BDP2.5A0-D-25R 25 230 250 260 3500 600 120 G1 G112
BDP2.5A0-D-26.5R 265 230 250 260 3500 600 122 G1 G112
BDP2.5A0-D-28-R 28 230 250 260 3500 600 124 G1 G112
BDP2.5A0-D-30-R 30 230 250 260 3000 600 126 G1 G112
BDP2.5A0-D-32-R 32 200 230 250 3000 600 129 G1 G112
BDP2.5A0-D-36-R 36 200 230 250 2750 500 133 G1 G112
BDP2.5A0-D-40-R 40 160 180 200 2500 500 138 G1 G1i2




BodenigiiiiFE

HIGH PRESSURE GEAR PUMP
BDP2.5A0
M10x1.25 B4R 15, M10x1.25 thread depth 15,
TRAM, nd M2 ETHEREH To mount the pump, n.4 M12 screws,
75...80 Nm. with a torque wrench setting fixed
at 75..80 Nm.
i #n
OUTLET INLET
M
65 130 L 2
106.4 125
d D 2

[7]
Sy

[TE— ]
]
\
=

T

1148
s
\J" W
100
524

A

82550

D

‘;\\.y

©
/

I_J1
O
f‘\_ G
LA
= 476
Gl
115
\2\
[T
=
S
b
LI.I
-
#2181

22 262

DP16/32-30° 13T M10x1.25 104 M10x1.25

0 #E BRES -t B{iHE R

Type Displacement Max pressure Max. speed Min. speed Dimensions

P1 P2 P3 M L D d

BDP2 5A0-D-23 23 230 250 260 3500 600 118 60.5 25 20
BDP25A0-D-25 25 230 250 260 3500 600 120 61.8 25 20
BDP2.5A0-D-26.5 265 230 250 260 3500 600 122 628 2% 20
BDP2.5A0-D-28 2 230 250 260 3500 600 124 638 25 20
BDP2.5A0-D-30 30 230 250 260 3000 600 126 64.8 25 20
BDP2.5A0-D-32 32 200 230 250 3000 600 129 66.3 25 2
BDP2.5A0-D-36 36 200 230 250 2750 500 133 68.3 25 20
BDP2.5A0-D-40 40 160 180 200 2500 500 138 708 28 20




BDP2.5

Bodeni#ilfii&E

BI2/FRONT COVER H/SHAFTS
45 45 45
25 25
0 ‘, n %
[N |
¥
| i = = §
o i
b 3 8 L = L
= L 418055 1 6-20x16xd
00 L H L HD
BAHE BAHE BAHE
Max.Torque 180 Nm Max.Torque 200 Nm Max.Torque 240Nm
39 3
l |2
= T [
: 1 1 | ]
i = | —
L g B =
EXT12Z-1.5m-30° DP16/32-30° 10T
-
RAHE RAHE
Max. Torque 220 Nm Max.Torque 200Nm
2 42
[ 32
DAl ™ 1
1 | L
| - =
I L ==
H 2 | ;
H < H =
=, =
DP16/32-30° 11T DP16/32-30° 13T
] 8
BAHRE RAHE
Max.Torque 210 N Max.Torque 300 N




Bodeni#iifliiEE

HIGH PRESSURE GEAR PUMP
BDP2.5
M O/PORTS
O o
g = o 0 w0
TYPE INLET QUTLET
Fan Y
b A B c o5& b ¢ d
BE) BDP25.23 + BDP25.36  |524 (262 | M0K1.25 |25 |476 |222 | Mioxi2s |20
BDP25..40 524 (262 | MIOx125 |28 [476 222 | Miox125 |20
ol 4 0 Hwn
TYPE INLET OUTLET

072523+ B0P25.40 61 G 12

Atk 0 40
TYPE INLET OUTLET

I 7} wr2s2 - wPs4 | W w5




Bodeni§iiiEE

HIGH PRESSURE GEAR PUMP

BHP3 BHM3|

WAITR/ HOW TO ORDER
B p B 3 || wE [ o] | M || B || WR || WOEE || W || WEH
Front cover Rotation Size Shaft Ports Ports position Seals Options
| I I | | |
52 P- &5 @5 B D Tk 14 20
Series Pump Group Clockwise 22
M- &0 81 HRTEHE 2
Motor § | Counter 3
clockwise 2 5 Options
o p| TERR | [ 4 i/ Drain
Reversible 50
Al QO-FREkE fintemal drain
52 Q1-5pERHER fextemal drain G3/8
9 Q2-$hEpH / external drain 3/4-16 UNF
63 Q3-5hi3Hk | extemal drain G114
i Q4-4hEBi | external drain 9/16-18 UNF
HMOGE Ports position
HR- Omit-Side inlet and side outlet
A-BERIH A-Front inlet and front outlet
B- it B-Back inlet and front outlet
C-Rit C-Back inlet and side outlet
D- ATt D-Side inlet and front outlet
R-E#RH R-Back inlet and back outlet
jE3 ) Seals
ER-REEEE-10T~+80 T i QR B ERE A i dbar, Omit-Range between ~107C and +80°C,inlet pressure up to max. 3 bar absolute.
V-ERTRENR, BRELEE-10C~+120C, V-Version suitable for fluid at hi-temperatures, range between ~10°C and +120C.
H-ERATERNR, BEEEE-40C-+80C, H-Version suitable for flid at low-temperatures, range between -40T and +80T.
T-E P F it O K 473 1 3~6bar, T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-1% B Fift i I &k 404 (£ 13~ 10bar, N-Version suitable for inlet pressure up to max, 3 and 10 bar absolute,
3861/ Examples:

BHP3-B0-D-20-C0-FO=  IERi$HE5, #® 20 coiev, BOBIE, COBEMMH, FOREMO, Mk

clockwise rotation, 20 cc/rev, BO frant cover, CO parallel shaft, setting ports FO type, standard seals
BHP3-Bi-D-20-TO-E0=  MARH§HE, #:= 20colrev, B1 A7, TO 1884, E0ZRMA, iRkt

clockwise rotation, 20 cc/rev, B1 front cover, 1:8 tapered shaft(T0), setting ports EO type, standard seals
BHP3-A0-D-20-C2-F4-N= IRRi$H45, #E 20cofev, AO B, C2 EEESHM, F4 ZEMOBERHN)

clockwise rotation, 20 ccfrev, A0 front cover, C2 parallel shaft, setting ports F4 type, high pressure seals(N)



BHP3B0

Bodenifinif[E

HIGH PRESSURE GEAR PUMP

M10 G40k 18. M10 thread depth 18.
M8 4Lk 16. M8 thread depth 16.
REZH, n8 M0 BETHE To mount the pump, n.8 M10 screws,
REH47£3Nm, with a torque wrench setting fixed
at47+3Nm.
Hign i 0
OUTLET INLET
134 M H
6 110 L
& ¢ 114 G 14
B ; < | %
A | D © i I
T S
8 AR B s O] = L=
b i BT . & Q| 0 & = hOREL 83
A0 e T De] | Q ©$ | e Dl | L g
d D
A-A b 112 B
8
S
i #E mREN BRHE BiRHR R+
Type Displacement Max pressure Max. speed Min. speed Dimensions
H B c
b bar (min) mn o mm o
BHP3B0-D-20 2 250 %5 20 3500 600 128 | 63 | 48 | 50 50
BHP3B0-D-22 2 250 265 280 3500 600 130 | 64 | 48 | 50 50
BHP3B0-D-26 2% 250 %5 20 3000 600 133 | 65 | 48 [ 50 | 20 | M8 [ 50 | 20 | w8
BHP3B0-D-33 3 230 250 270 3000 500 139 | 68 | 48 | 65 | 25 | MB | 65 | 20 | M8
BHP3B0-D-39 3 20 250 m 3000 500 16 |72 |48 [ 65 | 25 | M8 |65 | 20 | M8
BHP3B0-D-46 46 230 250 270 3000 500 152 | 75 | 48 | 65 | 25 | M8 | 65 | 20 | M8
BHP3B0-D-50 50 b2 %0 20 3000 500 15 | 77 | 51 | 76 | 33 |[MI0| 76 | 25 | M0
BHP3B0-D-52 52 2 2%0 20 3000 500 158 | 78 | 51 | 76 | 33 |[MIO| 76 | 25 | M0
BHP3B0-D-65 56 20 230 250 2800 400 160 | 79 | 51 | 76 | 33 |[MIO| 76 | 25 |M0
BHP3B0-D-63 83 20 20 250 2800 400 168 | 83 | 51 | 76 | 33 |[MI0O| 76 | 25 |Mi0
BHP3BO-D-71 g 180 20 2 2500 400 175 | 86 | 51 | 76 | 33 |[MI0| 76 | 25 |Mi0

72



73

BHP3B1

Bodeni§ifiEE

HIGH PRESSURE GEAR PUMP

M10 BB4LR 18, M10 thread depth 18,
LERR, n8 MO BTHELEHS To mount the pump, n.8 M10 screws,
47£3Nm. with a torque wrench setting fixed
i Mi4x1.5 BEHAEEEH 80 Nm. at47+3Nm.
Shaft M14x1.5 nut, with a torque
wrench setting fixed at 80 Nm.
ififal i |
OUTLET INLET
122 M 4
5 985 L B 14
M10 11n4 M10 16
6 i 2
g8 2
k5l ik ] /EB ~ et
2 L) T
= o WA Y- o= © _(\ I N
LY LN -2 - = w
x| [| "N \NA
ﬁ_lj | S Midx15
=18
A d D
00, b 112 B
g #E BXESN BRiE RiERE Rt
Type Displacement Max pressure Max.speed | Min. speed Dimensions
) P1 P2 P3 M L B D | b d
BHP3B1-D-20 20 250 265 280 3500 600 128 63 56 2 56 19
BHP3B1-D-22 2 250 265 280 3500 600 130 B4 56 7 56 19
BHP3B1-D-26 2% 250 265 280 3000 600 133 65 56 21 56 19
BHP3B1-D-33 33 20 250 27 3000 500 139 68 56 27 5 19
BHP3B1-D-39 39 20 250 270 3000 500 146 7 56 2 56 19
BHP3B1-D46 4 20 250 270 3000 500 162 75 59 27 5 o
BHP3B1-D-50 50 20 240 260 3000 500 156 1 56 2 56 2
BHP3B1-D-52 52 20 240 260 3000 500 158 78 5 27 56 a7
BHP3B1-D-55 85 200 20 250 2800 400 160 19 33 59 2
BHP3B1-D-63 63 200 20 250 2800 400 168 83 62 Rk} 54 a
BHP3B1-D-T1 [ 180 200 20 2500 400 175 86 62 33 54 2




BHP3A0

Bodeni#iiflii&E

HIGH PRESSURE GEAR PUMP

3/8-16 UNC B4R 19. 3/8-16 UNC thread depth 19,
716-14UNC B40R 19. 7116-14 UNC thread depth 19.
RERH, n8 M0 E5THE To mount the pump, .8 M10 screws,
1R H47£3 Nm. with a torque wrench setting fixed
at47+3Nm.
0 ria |8
OUTLET INLET
174 M 4
95 146 L
38-16UNC c 19
I
A s = [
R ¥ 2 B S
]
= {—] o O | | 79O
§ - /‘I’\ L_
2 - [ o [11<| (D
il } N SR e | I
to' o | HERE NS Ll w3
s
=,
Ah . :
112 D
635 %
] #l BAES gARE | mEeE R
Type Displacement Max pressure Max.speed | Min. speed Dimensions
38
BHP3A-D-22 2 260 2%5 20 300 600 (130 | 64 |524 (262 |38 | 27 [476 |22 | 19
BHP3AQ-D-26 % 250 265 260 3000 600 (133 | 65 |54 (262 |38 | 27 [476 |22 | 19
BHP3AQ-D-33 B 20 250 20 3000 500 | 130 | 68 |524 |262 |38 | 27 |476 [22 | 19
BHP3AQ-D-39 % 20 250 210 3000 500 | 146 | T2 |524 |262 |38 | 27 |476 [22 | 19
BHP3AQ-D46 4 20 20 20 3000 500 |52 | 75 |524 |262 |38 | 27 |476 [22 | 19
BHP3AQ-D-50 50 20 240 260 3000 500 | 156 | 77 |524 |262 |38 | 27 |476 [22 | 19
BHP3AQ-D-52 52 20 240 20 3000 500 | 158 | 78 |524 |262 |38 | 27 |476 [222 | 19
BHP3AQ-D-55 5 200 20 250 2800 40  [160 | 79 |587 [302 |76 | 33 |524 |262 | o7
BHP3AQ-D-63 63 200 20 250 2800 40 [ 168 | 83 |587 (302 |76 | 33 [524 |262 | 77
BHP3AQ-D-71 T 180 200 20 2500 40 [ 175 | 86 |587 [302 |76 | 33 |524 |262 | o7

74



BodenifililiigE

HIGH PRESSURE GEAR PUMP

BHP3A1

M10 S403% 16. M10 thread depth 19.
REFH, n.8 M0 ETHE To mount the pump, n.8 M10 screws,
BE A47 £3Nm. with a torque wrench setting fixed
at47+3Nm.
Hin i 0
OUTLET INLET
170 M 63
9 140 L
M10 M0 19
L 42
W - - |
=1 1"t 1€ g =
2, | $ T ¢ ] © m_$' T $‘ |
| {}_@ IS " Ni—E}Of} - oz
A ¥ = I
1 [ - =
Ah d D
572 112 57.2
530m
147
21
A #8 BXREA BERE =ik R+
Type Displacement Max pressure Max. speed Min. speed Dimensions

BHP3A1-D-20 20 250 265 280 3500 600 128 63 25 20

BHP3A1-D-25 25 250 265 280 3000 600 133 65 25 20
BHP3A1-D-32 32 230 250 270 3000 500 139 68 30 20
BHP3A1-D-40 40 230 250 270 3000 500 146 72 3 20
BHP3A1-D-50 50 220 240 260 3000 500 156 [ 35 25

BHP3A1-D-63 63 200 230 250 26800 400 168 83 35 25




BHM3B1

&

M10 40 18,

REZR, n8MI0 BTHERED

47 £3 Nm.,

HEMIAA SEBAERTEHR 80 Nm.

Bodeni#iiflii&E

HIGH PRESSURE GEAR PUMP

M10 thread depth 18,

To mount the pump, n.8 M10 screws,
with a torque wrench setting fixed

atd7 + 3Nm.

Shaft M14x1.5 nut,with a torque
wrench setting fixed at 80 Nm.

[ -
am
L]
im0 #i#n
QUTLET INLET
122 M 47
5 965 L 3 M
M10 11n4 M10 16
l l - s
| o P . - &
i — o F =
i oo e € o )
- ( \/} L 2 = K N/
~-1 = S B N M14x1.5
=18
ey D D
4_%.% B 112 B
1 Pr= BREEGNEN Pe=max peak input pressure
Pc= BEERSLEEEH Pc=max pressure continually as output counterpressure
B Pi= BEREEHNER P =max peak input pressure continually
Ak HE RAEN HREE BEHE Rt
Type Displacement Max pressure Max. speed WMin. speed Dimensions
Pi Pc Pr M L B D
| mife) bar mm mm
BHM3B1-R-20 20 280 265 290 128 63 56 27
BHM3B1-R-22 2 280 265 290 600 130 64 56 27
BHM3B1-R-26 26 280 265 290 600 133 65 56 27
BHM3B1-R-33 3 270 250 280 500 139 68 56 27
BHM3B1-R-33 39 270 250 280 500 146 72 56 27
BHM3B1-R-46 46 270 250 280 500 152 75 51 27
BHM3B1-R-50 50 260 240 270 3000 500 156 n 56 27
BHM3B1-R-52 52 260 240 210 3000 500 158 78 56 27
BHM3B1-R-55 B 250 230 260 2800 400 160 79 62 3
BHM3B1-R-63 63 250 230 260 2800 400 168 83 62 k]
BHM3B1-R-71 7 220 200 230 2500 400 175 86 62 33

76



BHP3

Bodeni#ifiigIE

HIGH PRESSURE GEAR PUMP

Bi/FRONT COVER S{H/SHAFTS
110 14 48 51
1 6
. % %
& S i | L
| wy | w3
. SIS - R S -
= i H
11 11
@, L i_} i‘J
= 3 =N
BO| ]
mAHE sAHE
Max.Torque 450 Nim Max.Torque 450 Nem
48 51
I-—-
A %
=L FHs
P p
16-25x20.1%6 116-25x20.1%6
L H L Ht
sAHsE sAHE
MaxTorque 00N MaxTorque ~ OCONM
146 19 4 4%
95 —'1| 33.-! |
/ I%\ L] - =T
: O B Lr . i - -
3 - 8 7 - =
_ = 6.35 = 635
A ]
sAHE BAHE
MaxTorque  00NM MaxTorque  “20NM
# 46
m 27 M 38
| R _
! (I w
| | =
I b -
I | |
. L
DP16/32-30° ~13T DP16/32-30° -15T
0 81
RAHE mAHE
Max.Torque 500 Nen Max.Torque 600 Nm

77



BHP3

Bodeni# i E

HIGH PRESSURE GEAR PUMP

B %/FRONT COVER Lh{/SHAFTS
985 16 47 4
1 5 14 40
—'T4 - A A
- \/_ : I 1
gl flv_ [ = — _
;@ &> § ¥ o 3 - =
S| =18 =
~ — < 4 & 5
RAHE RAHE
Max.Torque 300 Nm Max.Torque 350 Nm
2 51
L
i 8
= i i
=, 1 25 .
J =
=15 =
- < 5
RAHE
Max.Torque 350 Nim
140 19 51 63
9 M| 3 IP‘": 2
{}j/ HE == H%E
— = I 6-25K21%5
AU L H]
RAHE RAHE
MaxTorque  “o0NM MaxTorque 00NN

78



Bodeni§iiliigIE

HIGH PRESSURE GEAR PUMP

BHP3

i\ 0O/PORTS
15 95e
<1 28 HoRe i 0
o TYPE PORTS CODE INLET OUTLET
FES
| g BHP3..20 + BHP3..26 FO 50 | 2 | M | 50 | 2 | M
N BHP3..33 + BHP3..4 Fi 65 | 25 | Mg | 6 | 20 | M8
: BHP3..50 + BHP3..71 R % | B | Mo | 7 | % | wmo
FOF1/F2/F3 BHP3...50 + BHP3..63 F3 % | 38 | M | 76 | %5 | M
o ‘E‘_
2| & AGD 0 WORS it 40
N TYPE PORTS CODE INLET OUTLET
VBL | A B ¢ | blle b ¢ d
o BHP3..20 + BHPA...52 Fo 524 |62 [am-16UNC |27 [476 |22 [am-tUNC |19
F4F BHP3..55 + BHP3.71 F5 587 |a02 [me-1aunc |3 [s24 [262 [am-t6NC |27
Ala)
i i#tmn 0
o TYPE INLET OUTLET
g — KA A B C D a b ¢ d
—o BHP3..20 + BHP3..25 572 | % | Mo | 5 |52 | % | wmo | 2
00 T BHP3..32 52 | % | wo | % |52 | % | Mo | »
' BHP3..40 s2 | % [ wmo | ® |52 | ® | wmo | 2
T R BHP3..50 + BHP3...63 52 | % [ wo | 3 [s2 | % [ wo | 2

Alg)
Bib)

n4 Cle)

BHP3..20 + BHP3..71 § | 7 | W | % |10 | M

79



Bodenl#iiiiEIE

HIGH PRESSURE GEAR PUMP
BHP3
B A/PORTS
ey Mg HORS #mn Hi#o
P TYPE PORTS CODE INLET OUTLET
2 6(
O BHP3.20 + BHP3.3 E0 6 | 27 | Mo | 5% | 19 | Mo
;' & BHP3...46 Ef 51 7 | M0 | 5t 27 | M0
n4Cle) BHP3..50 + BHP3..52 E2 56 27 | M0 | 56 27 | Mio
BHP3.55 + BHP3..71 E3 2 | 38 | Mo | 51 | 27 | MO
41 WORS iigi A
] TYPE PORTS CODE INLET OUTLET
: BHP3.20 + BHP2.2 10 634 634
BHP3.26 + BHP2..39 L1 G1 634
BHP3.46 + BHP2..63 12 Gi 1/4 G1
BHP3..71 L3 Gi1R Gi1/4
b1 mORE A %A
TYPE PORTS CODE INLET OUTLET
BHP3.20 + BHP2.22 RO PT34 PT34
BHP3.26 + BHP2..39 R P PT3/4
BHP3.46 + BHP2..63 R PT1 114 PT1
BHP3..71 R PTI 12 PTI 1
_ il MORE 0 k0
s TYPE PORTS CODE INLET OUTLET

BHP3..20 + BHP3..33 uo 1 5/16-12UNF 1116-12UNF
BHP3.39 + BHP3.5 Ut 158-12UNF 11/16-12UNF

uouiu2 BHP3..55 + BHP3..T1 U2 17/8-12UNF 15/16-12UNF




BodeniHifiiEIE

HIGH PRESSURE GEAR PUMP

BAP3.5

$nfmiT® HOW TO ORDER

Mmoo L p 45 || HE | il oM || B4 || w0 || MOGE || w# || WER
) Front cover Rotation Size Shaft Ports Ports position Seals Options
| I I I I I
£hs P- ERR A3l ® D ilagaed 40
Series Pump Group Clockwise 50
af rilataEd 63
§ | Counter e
clockwise 80
A0 R AER$E 20
Reversible 100
A1
hOfE Ports position
ER-TENH Omit-Side inlet and side outiet
AR A-Front inlet and front outlet
B-ifthid B-Back inlet and front outlet
C-FRiftH C-Back inlet and side outlet
D~ D-Side inlet and front outlet
R-E#EH R-Back inlet and back outlet
i) Seals
HR-BEREA-10C~+80C i DR AT E N K 3bar, Omit-Range between ~10°C and +80'C,inlet pressure up to max. 3 bar absolute,
V-ERTRENE, REBRE-10T-+120C, V-Version suitable for fluid at hi-temperatures, range between ~10T and +120TC.
H-ERFEBAR, REEEE40T+80T, H-Version suitable for fluid at low-temperatures, range between -40°C and +80C.
T-E BTt O R KB E 713~6bar, T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-iE A Fitil AR A LR E 13~10bar, N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.
5l Examples:

BAP35-Q0-D-40-C0-FO= M, HE 40corev, QUAE, COEEMM, FOREMO, Fhni

clockwise rotation, 40 cc/rev, QO front cover, GO parallel shaft, setting ports FO type, standard seals
BAP3.5-Q1-D-40-S3-F2= MiRitHh, & 40cofey, Q1 812, S314%7LEE, F2 %300, REns

clockwise rotation, 40 cofrev, Q1 front cover, splined shaft 14T(S3), sefting ports F2 type, standard seals
BAP35-A0-D-50-C1-F5= IiRi$tH, #E 50 cohev, AOBTE, C1 [AESMH, F5 RO ki

clockwise rotation, 50 cc/rev, AD front cover, C1 parallel shaft, sefting ports F5 type, standard seals



BAP3.5Q0

M8 SB4LR 16.
M10 4% 20.
M12 B4R 20.

RERR, ndMi4 BITHE

Bodeni§iiiEE

HIGH PRESSURE GEAR PUMP

M8 thread depth 16.

M10 thread depth 20.

M12 thread depth 20.

To mount the pump, n.8 M14 screws,

1241855 Nm. with a torque wrench setting fixed
at185+5Nm.
ki #i#n
OUTLET INLET
150 M 51
115 L
: 14n4 c 14
n._3%
LA
s
2 - (o % oo U
Ae: § g
D | 9 @ H; =
d D
AA b 144 B
8
w| &9
Ak #E BXEAN SRR RiE#E R
Type Displacement Max pressure Max. speed Min. speed Dimensions
Pt | P2 | P3 |M|L|A|B|C|D|a]lb|ec]|d
BAP3.500-040 0 | 25 | 20 2750 600 189 (108 | 48 | 2 | M8 | 20 |48 | 22 | M8 | 20
BAP3.500-0-50 50 250 | 25 | 20 2750 600 195 [ 111 |52 | 26 (w0 |25 |48 [ 2 | M8 | 2
BAP3.500-D-63 83 250 | 25 | 20 2750 500 203 |15 |60 |30 [m0 |32 |52 [ |Mo0| 5
BAP35Q0-D-71 7 20 | %0 | 20 2500 500 28 |17 |70 | 36 [m2 |35 |60 |30 |mw0| 3
BAP3.500-D-80 80 20 | % | 20 2500 500 213 (120 | 70 | 36 [mr2 |35 |60 [ 30 M| 3
BAP3.5Q0-D-90 90 200 230 250 2500 500 219 | 123 [ 70 | 36 | M2 | 40 | 60 | 30 | M0 | 32
BAP3.500-D-100 100 20 | 20 | 20 2500 500 25 (126 | 70 | 3% [m2 | 40 |60 [ 30 |Mi0| 32

82



83

BAP3.5Q1

Bodeni&iiiEE

HIGH PRESSURE GEAR PUMP

M8 41 16. M8 thread depth 16.
M12 403 20. M12 thread depth 20.
ZHERA, ndMid E5THE To mount the pump, n.8 M14 screws,
EEA185+5Nm. with  torque wrench setting fixed
at 185+ 5Nm.
Hih0O 0
OUTLET INLET
150 M 56
1145 L
c 1614 c 14
. - . N _ Ll
T 1L i
= 3| e s C\ &
i = i
9. P @ o)
D
DP12/24-30° ~14T d
b 144 B
At #E BXER BREE RIRHR Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
O O T M|L|A|B|lC|D|alb]|c]d
| o) bar b i) n mm o mm o o omm omm
BAP3.501-D40 40 20 | 265 | 280 2750 600 |18 [108 | 60 | 30 |Mf0 | 32 |5 |2 M0 |2
BAP3501-D-50 50 %0 | 265 | 260 2750 600  [195 | 111 | 60 | 30 | M0 | 32 |52 | % |M0O| 2
BAP3501-D-63 6 250 | 265 | 280 2750 500 | 208 (15 | 60 |30 M0 |32 |52 | 2% [mo]| 25
BAP35Q1-D-71 n 2 | 2% | m 2500 50 |28 [1t7 | 70 | 3% |mi2 |3 |60 | 0 [mwo| 3
BAP3.501-D-60 80 B0 | 20 | 20 2500 500 | 213 [120 | 70 | 3% |Mi2 |3 |60 | 30 [mw0| %2
BAP3.501-D-90 % 0 | 20 | %0 2500 500 210|123 | 70 |36 |M12 | 40 | 60 | 30 |mi0 | 32
BAP3.5Q1-D-100 100 00 | 20 | 250 2500 500 |25 (126 | 70 | 3% |12 | 40 |60 | 30 [mi0| 2




BAP3.5A0[BAP3.5A1]

BodenigiiniFlE

HIGH PRESSURE GEAR PUMP

M8 $E4 16. M8 thread depth 16.
M12 B4R 20. M12 thread depth 20.
RERM, nd M4 ETHE To mount the pump, .8 M14 screws,
e A145+5Nm, with a torque wrench setting fixed
at 145+5Nm.
w0 i##0
OUTLET INLET
H M 58
F G L
¢ c 18
i |[] / \ ]
| ] Fan |
- — f e — = o | o 3
G b O i 8 2 N
L t . e = [ Ll E
B— ~ | A - ! (.
A @ © fes D =
L 'e) '®) | |
\ | / b.
d D
AA b 140 B
8
Mk #E REEN SEHE | RERE R+
Type Displacement | Maxpressure | Max.speed | Min. speed Dimensions
2 LES ML LE LF LG LH LALB | CID |alb | c]d
_ (oo bar bar bar (i) om o mmomn oo mmommomm  mmoomomm
BAP3.5A0-D-50 50 250 | 265 | 280 2750 600 171187 |80 | 8 |160 (200 | 60 |30 |[M10 |32 |52 [26 | M8 | 25
BAP3.5A0-D-63 63 250 |265 | 280 2750 500 179 [ 91 | 80 [ 8 |160 |200 | 60 | 30 MO |32 (52 |26 | M8 | 25
BAP3.5A0-D-71 M |23 250 |20 | 2500 500 (184 | 93 |80 | 8 |160 [200 | 60 |36 |[M10| 35 |60 |36 |Mi0| 28
BAP3.5A0-D-80 80 230 [250 | 270 2500 500 189 [ 96 | 80 | 8 |160 {200 | 60 | 36 MO |35 (60 | 36 [Mi0| 28
BAP35A0-D-90 0 |200 (200 [250 | 2500 500 (195 (99 |8 | 8 [160 [200 | 60 [ 36 |M10| 40 | 60 | 36 |Mi0 | 32
BAP3.5A1-D-100 100|200 |230 |250 | 2500 500 | 201|102 |127 |63 180 |215 | 60 | 36 | Mi0 | 40 % | M0 | 32




BodeniHiiiif[x

HIGH PRESSURE GEAR PUMP
BAP3.5
BiZ/FRONT COVER Bhf/SHAFTS
115 14 51 51
14 8 .t1 36 o 30
i u 3 |
(¢ > :
B H-—1 8] 3 w18
© 8 | = =
0 ° 1 . i
& § TL6-3025.368
@ L H
RAHE mAHE
Max. Torque 600 Nim Max.Torque 720 Nm
51 62
0o oo
T s 1
m2-30° -147 m2-30° ~15T
S0 St
RAHE mAHE
Max. Torque %00 Nm Max.Torque 980 Nim
1145 14 56 56
8 |t1| 40 " 45
i U Te e iy
= L 6-3208K7
. Q L W
RAHE mAHE
Max. Torque 650 Nim Max.Torque 800 Nim
56 56
1l 37 1 37
I
DP12/24-30° 14T DP16/32-30° 15T
) %
RAHE BAtE
Max. Torque 920 Nm Max.Torque 600 Nm

85



Bodeni§iiiiFE

HIGH PRESSURE GEAR PUMP
BAP3.5
Bi/FRONT COVER H{/SHAFTS
160 18 58 58 58
8 N 40 L 40 L 40
o =] -1 = i 2
- = I_: g 1 H = i =
5 8 ) 1
w =N I 6280236 m2-30° 14T
N -
BAHE RAHE mAHE
Max.Torque 600 N Max. Torque 600 Nim Max.Torque 900 Nm
180 18 58 58 58
6.3 N 40 L 40 L 40
(N || N FUR = e
N2l h I ] ]
w =N I 6-280236 m2-30° 14T
M -
BAHE RAHE mAHE
Max.Torque 600 N Max. Torque 600 Nm Max.Torque 900 Nm

86



Bodeni§iiiiFE

HIGH PRESSURE GEAR PUMP
BAP3.5
il /PORTS
I ) ‘ il HBORS #E0 K
| TYPE PORTS CODE INLET OUTLET
o i
n BAP35..40 PO |48 |2 [ M8 |20 |4 [2 |me|2
"B'DT BAP3.5..50 Fi 52 |26 [MI0| 25 |48 |2 | M8 | 20
o | BAP35..40 + BAP35. 63 P2 |60 |30 |mo|% |52 |2 [mol|s
BAP35..71 + BAP35..80 P3| 70 |3 [mi2|3 |60 |30 |mo| 2
FOIF1/F2IF3IF4 BAP35..90 + BAP35...100 F¢ |70 3 [mi2|40 |60 |30 [mio| 3
ZE n4 (o) 0 WIfE 0 M0
p TYPE PORTS CODE INLET OUTLET
™

T “‘I'”T
BAP3.5..50 + BAP3.5..63 F5 60 |30 (MIO| 3 |52 |26 [ M8 |25
BAP3.5..71 + BAP35..80 & 60 (36 [MI0| 35 |60 |36 [MIO| 28
F5/F6 BAP3.5..90 + BAP35..100 60 | 3 |M10| 40 | 60 |36 |[M10| 32




Bodeni§ihiFE

HIGH PRESSURE GEAR PUMP

ZBEE  MULTIPLE PUMPS

WmfiTH HOW TO ORDER

i | || EE | D) i | W [ MR || MPRE [| B || WEE
B P 22 Front cover Rotation 167166 Shaft Ports Ports position Seals Options
T I | I I I
s P- ERE E5 10 D Bt | M8 Size
Series Pump Group Clockwise 3
B ik 4
S | Counter 6
clockwise 8
B R AERE 10
Reversible 12
B 14
16
2 18 SERHHMULTIPLE PUMPS COMBTNATION
Q 2 Reduced inlets provide overall systems savings by re-
22 ducing the cost of redundant inlet hose and fitings.
Q2 = For other combinations please consult our sales de-
2% partment
30
i3] Seals
HB-BEERE-10C-+80 C it OREET E S Hbar, Omit-Range between ~10C and +80 C,inlet pressure up to max. 3 bar absolute.
V-ERTRRAR, BESEE-10C~+120T, V-Version suitable for fluid at hi-temperatures, range between -10T and +120C.
H-ERTFERME, REEEE-40T-+80C, H-Version suitable for fuid at low-temperatures, range between ~40'C and +80T.
T-ERFilti & K &MEN3~6bar, T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-1E F T it O B4 £ 74 [ 713~10bar, N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

56l Examples:

BHP2/2/2-B0-D-16/16/6-T0-E0 = WERTEH, 24, AFHE16cchey, hiERHE 16cchev, RRAECc/rev, BORTZE, TO 1.0 Rih, EOREHA, AR
clockwise rotation, group 2, front pump 16 ce/rev, middle pump 16 ccirev, rear pump 6 cc/rev, BO front cover,
1:8 tapered shaft(T0), setting ports EO type, standard seals

BHP2/2-B0-D-16/16-T0O-EO=  NRTEEE, $2M8, MZHE 16cchev, FR#ER16ccev, BORTE, TO 1:8HMMME, EOREMD, RS
clockwise rotation, group 2, front pump 16 cc/rev, rear pump 16 cc/rev, BO front cover,
1:8 tapered shaft(T0), setting ports EQ type, standard seals

BAP2/2-A0-D-25/16-C0-U0=  JRAttEE, %218, WRHE 25 corev, FRIEE 16 colrev, AOBIZ, COEEHMMH, U0 ZEMA, iRk
clockwise rotation, group 2, front pump 25 ccirev, rear pump 16 ccirev, AD front cover, CO parallel shaft,
sefting ports UO type, standard seals




Bodeni§iiiiFIE

HIGH PRESSURE GEAR PUMP

{7 37#/HOW TO ORDER
OB Ports position il Of,/Standard version
LMY Omit-Side inlet and side outlet E-Z#ZH(TEME ) E-two inlet and two outlet{separated type)
B-Eif#it  B-Backinletand front outlet F-Z#—t (/A ) F-twoinlet and two outlet{common type)
C-Ritfdi  C-Backinlet and side outlet G-—#—H G-one inlet and two outlet
D-Mif#d  D-Side iniet and front outiet = J-one inlet and three outlet
R-iftEd  R-Backinletand back outlet K-ZH=H K-two inlet and three outlet
— O] [N ] - [N
$ ¥ ¥ 4
$ $ $ 4
— out ouT — OouT ouT
— ] — ]
$ $
L 4 4 $ $ $
— ouT ouT . out out outT
— ] [N ]
$ $




Bodeni§ihiFE

HIGH PRESSURE GEAR PUMP

BKP0.5/0.5
BKP0.5/0.5-E

12.5 A A 25 A A 18 6.6n.2

T
.
7
S~

_ﬂ[;

B
N/
(B
N
©
Q4

N/

D
/
™
L/

o
[=1

BKP0.5

HE FAER BRRE foiidi3: Rt
Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 A

0.18 200 230 250 7000 1000 14.8
0.26 200 230 250 7000 1000 15
0.38 200 230 250 7000 1000 155
0.50 200 230 250 7000 1000 16
0.65 200 230 250 7000 1000 16.5
0.75 200 230 250 7000 1000 17
0.88 200 230 250 7000 1000 175
1.00 200 230 250 6000 850 18
1.25 200 230 250 5000 700 19
1.50 200 230 250 4000 600 20
1.75 180 210 230 4000 600 21
2.00 160 190 210 3000 500 22




Bodeni§iiiiFE

HIGH PRESSURE GEAR PUMP

BHP11  BKP1/A
BHP1/1-F

20 A A B A A 185 102

=i o3 .

i
I
|

N\

12

\f\

N
e/
()
Y/

AL

i ; | ¢
{ e |
BHP1A-E
. E[ 7\
| alE .
BKP1/1-E
-
252 I I 7
s 0| Y | 0|V
"

91



BHP1/1

BKP1/1

Bodeni§ihiFE

HIGH PRESSURE GEAR PUMP

BHP1

i3 BAER BRRE wiERE R
Displacement Max pressure Max. speed WMin. speed Dimensions
P1 P2 P3 A
14 250 210 290 6000 600 22
21 250 270 290 6000 800 23
28 250 270 290 5000 800 24
a5 250 270 290 5000 800 25
41 250 270 290 4000 800 2%
52 230 245 260 4000 800 215
62 230 245 260 3500 800 29
76 200 215 230 3000 600 31
93 180 195 210 2500 600 35
1.0 170 185 200 2500 600 3
138 150 165 180 2000 600 40
BKP1
3 BXEN BEE BliHE Rt
Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 B
08 230 250 270 6000 1000 178
11 230 250 270 6000 1000 18
1.3 230 250 270 6000 1000 185
1.6 230 250 270 6000 1000 19
1.8 230 250 270 6000 1000 195
21 230 250 270 6000 1000 20
27 230 250 270 6000 800 21
32 210 230 250 5000 800 2
37 210 230 250 4500 800 2
42 210 230 250 4000 800 24
48 190 210 230 3500 600 25
58 190 210 230 3000 600 a7
70 160 180 200 2500 600 29
80 160 160 200 2100 600 31

92



Bodeni§iiiiFE

HIGH PRESSURE GEAR PUMP

BHP2/22 BHP2/2 BHP2/1 BHP2/0.5
BHP2/2-Fa BHP2/2-G

19 A A B A A 235 130 — —
i |

106.4 |

| =2 |

] A
T |®| |1 T 7N oot
elell 8P1as
BHP2/2-E
W [
melllell 9P 1
1 | it
BHP2/2/2-Ea BHP2/2/2-Fb
fl & | : Iz ﬁ/mﬁflﬁ\\
= = =
fellel el 9p
: - —

93



Bodeni§ihiFE

HIGH PRESSURE GEAR PUMP

BHP2/22 BHP2/2 BHP21 BHP2/0.5

BHP2/0.5-E

19 A A 38 125 130

106.4
- B B 18 .

b Y m R
AR
%

¥ 72 111
J 0|\ ;

)

15.7

s
8.4
12
|
\
120
r =
| |
L |

BHP2/BAP1-F

9 A A 38 C . C 185,

| T J
=1 () PNl

X BIIA\ 27 ] 2
I —

BHP2/BKP1-Eb

19 A A 38 15 D D 2 106.4

| (T R
L m m—— & -1
SR N C D s |
o -l N\ |\ _§_m E | il
1| ) ®
BHP2/BKP1-Ec =

5,

114

15.7

| | - |-
<%

6.18

9nd

AT, A | et

- &Q ;/!;:‘\\\ %_ @—@ 8 | :

S5 N2 , | LT _T.
LR

N




95

Bodeni§iiiiFE

HIGH PRESSURE GEAR PUMP
BHP2/22 BHP2)2 BHP2/1 BHP2/0.5
BHP2
bii 4 RREN BEEE BEEE R+
Displacement Max pressuire Max. speed Min. speed Dimensions
P1 P2 P3 A
3 270 285 300 4000 800 245
4 270 285 300 4000 600 253
6 270 285 300 4000 600 27
8 270 285 300 3500 500 286
10 270 285 300 3000 500 303
12 270 285 300 3000 500 32
14 250 265 280 4000 500 336
16 250 265 280 4000 500 3.3
18 250 265 280 3600 400 37
20 220 235 250 3200 400 386
2 220 235 250 3000 400 40.3
25 200 215 230 3000 400 428
28 180 190 200 2500 400 453
30 160 170 180 2500 400 47
BKP0.5
#E BRAEN BRGE mifE R+
Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 B
0.19 200 230 250 7000 1000 148
0.26 200 230 250 7000 1000 15
0.38 200 230 250 7000 1000 155
0.50 200 230 250 7000 1000 16
0.65 200 230 250 7000 1000 165
0.75 200 230 250 7000 1000 17
0.88 200 230 250 7000 1000 17.5
1.00 200 230 250 6000 850 18
1.25 200 230 250 5000 700 19
1.50 200 230 250 4000 600 20
1.75 180 210 230 4000 600 21
2.00 160 180 210 3000 500 22




BHP2/2/2

BHP2/2

BHP2/1

BHP2/0.5

Bodeni§ihiFE

HIGH PRESSURE GEAR PUMP

BAP1

H= BRER BakE BiRsE Rt
Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 C
14 250 270 290 6000 800 2
21 250 270 290 6000 800 23
28 250 270 290 5000 800 2
35 250 270 290 5000 800 25
41 250 270 290 4000 800 26
52 230 245 260 4000 800 275
6.2 230 245 260 3500 800 29
76 200 215 230 3000 600 3
93 180 195 210 2500 600 335
1.0 170 185 200 2500 600 36
138 150 165 180 2000 600 40
BKP1
HE BAEA RERE it Rt
Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 D
0.8 230 250 270 6000 1000 17.8
1.1 230 250 270 6000 1000 18
13 230 250 270 6000 1000 18.5
16 230 250 270 6000 1000 19
18 230 250 270 6000 1000 19.5
21 230 250 270 6000 1000 20
27 230 250 270 6000 800 2
32 210 230 250 5000 800 2
37 210 230 250 4500 800 23
42 210 230 250 4000 800 24
48 190 210 230 3500 600 25
58 190 210 230 3000 600 27
7.0 160 180 200 2500 600 29
8.0 160 180 200 2100 600 )

96



Bodeni§iiiiFE

19.075

BHP2.6/2.6

BHP2.6/2.6-F

= i a ﬁlﬁ r\\

=111 /7 N k ) / .
| " /ﬁ,@

i
103

BHP2.6

97

HE BXED ERHE EiiHE R
Displacement Max pressure Max. speed Min. speed Dimensions
Pi P2 P3 A
6 250 280 300 4000 800 28.3
8 250 280 300 4000 800 293
10 250 280 300 4000 700 30.3
12 250 280 300 3500 700 35
14 250 280 300 3500 600 323
16 250 280 300 3500 600 B85
19 250 280 300 3000 500 353
2 250 280 300 3000 500 a7
25 250 280 300 3000 500 383
28 250 280 300 3000 500 398
30 230 250 260 3000 500 4
32 230 250 260 3000 400 423
36 200 230 250 2750 400 443
38 200 230 250 2750 400 453
40 170 190 210 2500 400 463
44 170 190 210 2500 400 485




Bodenidifi&E

HIGH PRESSURE GEAR PUMP

BHP3/3 BHP32 BHP31 BHP3/0.5
BHP3/3-E BHP3/3-F
L ) z i T
|n i : | |
= | NZ il | A
| 4 7 & S L B
E @ |9 [ i
BHP3/3-G
I oW
Sl e |o |l &1 g
4 417 g S |
ﬁ Tl | Tl
BHP3/2-E BHP3/2-F

22 A A 22

#%— NS Q
N

29

14.3n.2

98



Bodeni§iiiiFE

HIGH PRESSURE GEAR PUMP

BHP3/3 BHP3/2 BHP31 BHP3/0.5
BHP3/1-Ec
o _g 3 Tt
(N - : 8 iz | :
« NS/ 1 N _& Loefiosticd
_E ) 1in4
BHP3/1-Eb
J i B e —
5 A\ | N B |
BHP3/0.5-Ea
I i T T
= fan\ 5| 7 :
= — %j/ i N E & N I

99




Bodeni§ihiFE

HIGH PRESSURE GEAR PUMP

BHP3/3  BHP3/2 BHP31 BHP3/0.5

BHP3
i3 BREN RR%EE EERE R+

Displacement Max pressure Max. speed Min. speed Dimensions
Pi P2 P3 A

20 250 265 280 3500 600 405
2 250 265 280 3500 800 415
26 250 265 280 3000 600 43
3 230 250 270 3000 500 46
39 230 250 270 3000 500 495
46 230 250 270 3000 500 525
50 220 240 260 3000 500 545
52 220 240 260 3000 500 555
55 200 230 250 2800 400 565
63 200 230 250 2800 400 60.5
7 180 200 220 2500 400 64

BHP2
HE RAEN =Eigd BT R+

Displacement Max pressure Max. speed Min. speed Dimensions
E1 P2 P3 | B

3 270 285 300 4000 800 245
4 270 285 300 4000 600 253
6 270 285 300 4000 600 27
8 270 285 300 3500 500 286
10 270 285 300 3000 500 303
12 270 285 300 3000 500 32
14 250 265 280 4000 500 336
16 250 265 280 4000 500 353
18 250 265 280 3600 400 37
2 20 235 250 3200 400 386
22 220 235 250 3000 400 40.3
25 200 215 230 3000 400 428
28 180 190 200 2500 400 453
30 160 170 180 2500 400 47

100



101

BHP3/3

BHP3/2

BHP3/1

BHP3/0.5

Bodeni§iiiiFE

HIGH PRESSURE GEAR PUMP

BKP1

e BREN BERE RS R+
Displacement Max presstire Max. speed Min. speed Dimensions

P1 P2_| P8 C

08 230 250 270 6000 1000 17.8
11 230 250 270 6000 1000 18
13 230 250 270 6000 1000 185
18 230 250 270 6000 1000 19
18 230 250 270 6000 1000 195
21 230 250 210 6000 1000 20
27 230 250 270 6000 800 21
32 210 230 250 5000 800 22
37 210 230 250 4500 800 23
42 210 230 250 4000 800 24
48 190 210 230 3500 600 25
58 180 210 230 3000 600 27
7.0 160 180 200 2500 600 29
a0 160 180 200 2100 600 i

BKP0.5
HE BAEN BARE HifEsE Rt
Displacement Max pressure Max, speed Min. speed Dimensions

P1 P2 P3 D

0.19 200 230 250 7000 1000 14.8
0.26 200 230 250 7000 1000 15
0.38 200 230 250 7000 1000 155
0.50 200 230 250 7000 1000 16
0.65 200 230 250 7000 1000 16.5
0.75 200 230 250 7000 1000 17
0.88 200 230 250 7000 1000 17.5
1.00 200 230 250 6000 850 18
1.25 200 230 250 5000 700 19
1.50 200 230 250 4000 600 20
1.75 180 210 230 4000 600 21
200 160 190 210 3000 500 22




ISO/TS16949-20097AiE £ Ml

Boden {§ilii

ME - R ERMDEIRZAG

CHINA BODEN HYDRAULICS CO.,LTD

FEEREERZBIIRAS

SHANGHAI BODEN HYDRAULICS CO.,LTD

FiEEM: BRREBIVERBK19S(EM4%: 226236)
Manufactory: No.19 Donghai Road, Binhai Industrial
Zone, Qidong 226236, P.R. China
Tel:+86-513-83601666  Fax:+86-513-83601866
www.boden-hyd.com boden@boden-hyd.com



	封面.pdf
	公司简介.pdf
	菲页.pdf
	目录0.pdf
	目录.pdf
	1.pdf
	2.pdf
	3.pdf
	4.pdf
	5.pdf
	6.pdf
	7.pdf
	8.pdf
	9.pdf
	10.pdf
	11.pdf
	12.pdf
	13.pdf
	14.pdf
	15.pdf
	16.pdf
	17.pdf
	18.pdf
	19.pdf
	20.pdf
	21.pdf
	22.pdf
	23.pdf
	24.pdf
	25.pdf
	26.pdf
	27.pdf
	28.pdf
	29.pdf
	30.pdf
	31.pdf
	32.pdf
	33.pdf
	34.pdf
	35.pdf
	36.pdf
	37.pdf
	38.pdf
	39.pdf
	40.pdf
	41.pdf
	42.pdf
	43.pdf
	44.pdf
	45.pdf
	46.pdf
	47.pdf
	48.pdf
	49.pdf
	50.pdf
	51.pdf
	52.pdf
	53.pdf
	54.pdf
	55.pdf
	56.pdf
	57.pdf
	58.pdf
	59.pdf
	60.pdf
	61.pdf
	62.pdf
	63.pdf
	64.pdf
	65.pdf
	66.pdf
	67.pdf
	68.pdf
	69.pdf
	70.pdf
	71.pdf
	72.pdf
	73.pdf
	74.pdf
	75.pdf
	76.pdf
	77.pdf
	78.pdf
	79.pdf
	80.pdf
	81.pdf
	82.pdf
	83.pdf
	84.pdf
	85.pdf
	86.pdf
	87.pdf
	88.pdf
	89.pdf
	90.pdf
	91.pdf
	92.pdf
	93.pdf
	94.pdf
	95.pdf
	96.pdf
	97.pdf
	98.pdf
	99.pdf
	100.pdf
	101.pdf
	封底.pdf

